
a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 32102/DE – TQD/RCE – E

	 -1-	 Set-A

		

SET  –  A

 Subject Code : 32102/DE – TQD/RCE – E
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 drjH$ Ho$ hñVmja				    Aä`Wu Ho$ hñVmja			 
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 drjH$ Ho$ Zm_				    Aä`Wu H$m Zm_				  
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 àíZ nwpñVH$m _| n¥îR>m| H$s g§»`m :
 Number of Pages in this Question Booklet  : 40

 àíZ nwpñVH$m _| àíZm| H$s g§»`m : 
 Number of Questions in this Question  Booklet :

nyUmªH$ - 300

g_` - 3 K§Qo

150
Aä`{W©`m| Ho$ {bE {ZX}e

	1.	 àíZ-nwpñVH$m {_bVo hr _wI n¥îR> Ed§ A§{V_ n¥îR> _| {XE JE {ZX}em| H$mo 
AÀN>r Vah n‹T> b| Ÿ& àíZ nwpñVH$m _| bJr grb H$mo drjH$ Ho$ H$hZo go nyd© 
Z Imob| &

	2.	 D$na {XE hþE {ZYm©[aV ñWmZm| _| AnZm AZwH«$_m§H$, CÎma-nwpñVH$m H$m H«$_m§H$ 
{bI| VWm AnZo hñVmja H$a| Ÿ&

	3.	 OMR CÎma-erQ> _| g_ñV à{dpîQ>`m§ {X`o J`o {ZX}emZwgma H$a| AÝ`Wm CÎma-erQ> 
H$m _yë`m§H$Z Zht {H$`m OmEJm Ÿ&

	4.	 grb ImobZo Ho$ ~mX gw{ZpíMV H$a b| {H$ àíZ-nwpñVH$m _| Hw$b n¥îR> D$na 
{bIo AZwgma {XE hþE h¢ VWm Cg_| g^r 150 àíZm| H$m _wÐU ghr h¡ Ÿ& {H$gr 
^r àH$ma H$s Ìw{Q> hmoZo na 15 {_ZQ> Ho$ A§Xa drjH$ H$mo gy{MV H$a ghr  
àíZ-nwpñVH$m àmßV H$a| Ÿ&

	5.	 àË`oH$ àíZ hoVw àíZ-nwpñVH$m _| àíZ Ho$ ZrMo {XE JE Mma {dH$ënm| _| go  
ghr/g~go Cn`wŠV Ho$db EH$ hr {dH$ën H$m M`Z H$a OMR CÎma-erQ> _| ghr 
{dH$ën dmbo Jmobo H$mo Omo Cg àíZ Ho$ gab H«$_m§H$ go gå~§{YV hmo H$mbo ̀ m Zrbo  
~m°b-ßdmBÊQ> noZ go ^a| Ÿ&

	6.	 ghr CÎma dmbo Jmobo H$mo AÀN>r Vah go ^a|, AÝ`Wm CÎmam| H$m _yë`m§H$Z Zht hmoJm & 
BgH$s g_ñV {Oå_oXmar narjmWu H$s hmoJr &

	7.	 àíZ-nwpñVH$m _| 150 dñVw{ZîR> àíZ {XE JE h¢ Ÿ& àË òH$ ghr CÎma hoVw 2 A§H$ 
Am~§{Q>V {H$`m J`m h¡ VWm JbV CÎma A§{H$V H$aZo na 1/2 A§H$ H$mQ>o Om |̀Jo &

	8.	 àíZ-nwpñVH$m VWm CÎma-erQ> _| {Z{X©îQ> ñWmZm| na à{dpîQ>`m§ ^aZo Ho$ A{V[aŠV 
H$ht ^r Hw$N> Z {bI| Ÿ& AÝ`Wm OMR erQ> H$m _yë`m§H$Z Zht {H$`m Om`oJm &

	9.	 narjm g_mpßV Ho$ CnamÝV Ho$db OMR CÎma-erQ> Ed§ àíZ nwpñVH$m H$s H$ìha noO  
drjH$ H$mo gm¢nZr h¡& CÎma-erQ H$s H$m~©Z H$m°nr VWm àíZ-nwpñVH$m narjmWu AnZo 
gmW bo Om gH$Vo h¢ &  

	10.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hmo§Jo :	                 à. g§.
	 ^mJ – (1)	:	amÁ` H$m gm_mÝ` kmZ	 -	 1-30
	 ^mJ – (2)	:	̂ mfm ({hÝXr, N>ËVrgJ‹T>r Ed§ A§J«oOr)	 -	 31-60
	 ^mJ – (3)	:	~w{Õ_Îmm narjU, {díbofUmË_H$ Ed§ Vm{H©$H$			 
			  `mo½`Vm	 -	 61-90
	 ^mJ – (4)	:	H¥${f, Ord-{dkmZ Ed§ dZñn{V emñÌ, agm`Z emñÌ, 			 
		 dm{ZH$s, ŷ-J ©̂ {dkmZ, J{UV Ed§ ^m¡{VH$ {dkmZ  	 -	 91-150
11.	 `{X A§J«oOr ^mfm _| H$moB© g§Xoh h¡ Vmo {hÝXr ^mfm H$mo hr àm_m{UH$ _mZm Om òJm Ÿ&

instructionS To candidates
	 1.	 Immediately after getting the booklet read instructions carefully, 

mentioned on the front and back page of the question booklet and 
do not open the seal given on the question booklet, unless asked 
by the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question booklet 
contains total no. of pages as mentioned above and printing 
of all the 150 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate option out of four 
options given, as answer and darken the circle provided against 
that option in the OMR Answer-Sheet, bearing the same serial 
number of the question. Darken the circle only with Black or Blue 
ball point pen.

	 6.	 Darken the circle of correct answer properly, otherwise answers 
will not be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 150 objective type questions in this Question Booklet.  
2 marks is allotted for each correct answer and 1/2 mark will 
be deducted for each wrong Answer.

	 8.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet 
and cover page of question booklet is to be handed over to the 
invigilator. Carbon copy of the Answer-Sheet and Question Booklet 
may be taken away by the examinee.

	10.	 This Question Booklet consists of Parts namely :        Q. No.
	 Part – (1) : General Knowledge of the State	 –	 1-30 
	 Part – (2) : Language (Hindi, Chhattisgarhi, English)	–	 31-60 
	 Part – (3) : Intelligence Test, Analytical and			 
		  Logical Ability	 –	 61-90
	 Part – (4) : Agriculture, Biology, Botany, Chemistry, 			 
		  Forestry, Geology, Mathematics and 			 
		  Physics	 –	 91-150 
	11.	 In case of any ambiguity in English version the Hindi version shall 

be considered authentic.
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		  General Knowledge of the State

	 1.	 Which are organic crops in the State ? 
	 I.	 Badshahbhog

	 II.	 Jawaphool
	 III.	 Dubraj
	 IV.	 Urad
	 (A)	 I	 (B)	 I and II
	 (C)	 I, II and III	 (D)	 I, II, III and IV

	 2.	 Which of the following is not the 
Legislative Power of Governor ?

	 i.	 To address the Legislative 
Assembly 

	 ii.	 To promulgate Ordinance
	 iii.	 To sign in a bill passed by the 

Legislative Assembly

	 iv.	 To send message to the 
Legislative Assembly

	 (A)	 i, ii, iii	 (B)	 ii, iii, iv

	 (C)	 i, ii, iv	 (D)	 i, iii, iv

	 3.	 Four candidates are contesting the 
election of Sarpanch. In which sequence 
the name will be written in the ballot 
paper ? 

	 i.	 Thakur Deenanath Singh
	 ii.	 Dinkar Singh Thakur

	 iii.	 Dr. Arun Prakash

	 iv.	 B. L. Prabhakar 
	 (A)	 i, iii, iv, ii	 (B)	 ii, i, iv, iii
	 (C)	 iv, iii, ii, i	 (D)	 iii, i, ii, iv

amÁ` H$m gm_mÝ` kmZ

	 1.	 amÁ` _| H$m¡Z-go O¡{dH$ \$gbo h¡§ ?
	 I.	 ~mXemh^moJ

	 II.	 Odm\y$b
	 III.	 Xÿ~amO
	 IV.	 C‹S>X
	 (A)	 I	 (B)	 I Am¡a II
	 (C)	 I, II Am¡a III	 (D)	 I, II, III Am¡a IV

	 2.	 {ZåZ{b{IV _| go H$m¡Z-gm amÁ`nmb H$s 
{dYm`repŠV Zht h¡ ?

	 i.	 {dYmZg^m H$mo gå~mo{YV H$aZm 

	 ii.	 AÜ`mXoe Omar H$aZm
	 iii.	 {dYmZg^m Ûmam nm[aV {dYo`H$ na 

hñVmja H$aZm
	 iv.	 {dYmZg^m H$mo g§Xoe ^oOZm

	 (A)	 i, ii, iii	 (B)	 ii, iii, iv

	 (C)	 i, ii, iv	 (D)	 i, iii, iv

	 3.	 Mma Aä`Wu gan§M H$m MwZmd b‹S> aho h¢ & _VnÌ 
_| BZH$m Zm_ {H$g H«$_ _| {bIm OmEJm ?

	 i.	 R>mHw$a XrZmZmW qgh
	 ii.	 {XZH$a qgh R>mHw$a

	 iii.	 S>m°. AéU àH$me

	 iv.	 ~r. Eb. à^mH$a
	 (A)	 i, iii, iv, ii	 (B)	 ii, i, iv, iii
	 (C)	 iv, iii, ii, i	 (D)	 iii, i, ii, iv

PART – (1)
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	 4.	 What is not correct about the 	
Vice President  of municipal council ?

	 i.	 Vice President is elected by the 
elected councillors and President 
of Municipal Council 

	 ii.	 President of municipal council can’t 
vote in the election of Vice President

	 iii.	 This meeting is presided over 
by the President of municipal 
council

	 iv.	 Vice President takes oath for his 
office before the Sub-Divisional 
Magistrate

	 (A)	 i, ii, iii
	 (B)	 ii, iii, iv
	 (C)	 i, iii, iv
	 (D)	 i, ii, iv

	 5.	 In 2021 Rajya Alankarana Award, who 
was awarded by Dr. Khoob Chand 
Baghel award ?

	 (A)	 Mukesh Choudhary
	 (B)	 Kundan Lal Gour
	 (C)	 Nand Kishore Tiwari
	 (D)	 Anil Kumar Sahu

	 6.	 Which irrigation project of the State 
is not included under Prime Minister 
Agricultural Irrigation Yojana ?

	 (A)	 Kelo Large Irrigation Project
	 (B)	 Saradih Barrage
	 (C)	 Kharung Irrigation Project
	 (D)	 Ganiyari Irrigation Project

	 4.	 ZJanm{bH$m$ n[afX Ho$ CnmÜ`j Ho$ {df` _| Š`m 
ghr Zht h¡ ?

	 i.	 ZJanm{bH$m n[afX Ho$ {Zdm©{MV nmf©Xm| 
Am¡a AÜ`j Ûmam CnmÜ`j H$m {Zdm©MZ 
{H$`m OmVm h¡ 

	 ii.	 ZJanm{bH$m n[afX H$m AÜ`j CnmÜ`j Ho$ 
{Zdm©MZ _| _V Zht Xo gH$Vm

	 iii.	 Bg ~¡R>H$ H$s AÜ`jVm ZJanm{bH$m n[afX 
H$m AÜ`j H$aVm h¡ 

	 iv.	 CnmÜ`j, AZw{d^mJr` XÊS>m{YH$mar Ho$ 
g_j AnZo nX H$s enW boVm h¡ 

	 (A)	 i, ii, iii
	 (B)	 ii, iii, iv
	 (C)	 i, iii, iv
	 (D)	 i, ii, iv

	 5.	 amÁ` Ab§H$aU nwañH$ma 2021 _| S>m°. Iy~ M§X 
~Kob gå_mZ {H$go {X`m J`m ?

	 (A)	 _wHo$e Mm¡Yar	
	 (B)	 Hw$ÝXZ bmb Jm¡a
	 (C)	 Z§X {H$emoa {Vdmar	
	 (D)	 A{Zb Hw$_ma gmhÿ

	 6.	 amÁ` H$s H$m¡Z-gr qgMmB© `moOZm àYmZ_§Ìr H¥${f 
qgMmB© `moOZm _| em{_b Zht H$s J`r h¡ ?

	 (A)	 Ho$bmo d¥hX² qgMmB© `moOZm
	 (B)	 gmamS>rh ~¡amO
	 (C)	 Ima§J qgMmB© n[a`moOZm
	 (D)	 J{Z`mar qgMmB© n[a`moOZm
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	 7.	 What is the percentage of irrigation in 
the State upto March 2020 ?

	 (A)	 36%	 (B)	 37.2%
	 (C)	 38.2%	 (D)	 36.2%

	 8.	 Which mineral of the State has maximum 
contribution in the mineral production 
of the Nation ?

	 (A)	 Coal	 (B)	 Iron-ore
	 (C)	 Limestone	 (D)	 Tin ore

	 9.	 The story of a festival of this state 
“Khamarchhat” (kamarchhat) is from 
which religious book ?

	 (A)	 Ramayan	 (B)	 Mahabharat
	 (C)	 Skandhpuran	(D)	 Garudpuran

	 10.	 Which is the festival celebration on 
the third date in the shukla paksha of 
Bhadrapada in this State ? 	

	 (A)	 Pola	 (B)	 Hareli
	 (C)	 Tija	 (D)	 Bhojali

	 11.	 In which agricultural produce the 
“First Krishi Karman Award” is given 
to the state in Feb. 2020 ? 	

	 (A)	 Cereals	 (B)	 Pulses
	 (C)	 Foodgrains	 (D)	 Oilseed

	 12.	 What percentage of subsidy is given by 
the state on sprinkler to marginal and 
small farmers under minor irrigation 
scheme ? 	

	 (A)	 70%	 (B)	 65%

	 (C)	 33%	 (D)	 37%

	 7.	 _mM© 2020 VH$ amÁ` _| qgMmB© H$m à{VeV 
Š`m h¡ ?

	 (A)	 36 à{VeV 	 (B)	 37.2 à{VeV 
	 (C)	 38.2 à{VeV 	 (D)	 36.2 à{VeV 

	 8.	 amÁ` Ho$ {H$g I{ZO nXmW© H$m Xoe Ho$ I{ZO 
CËnmXZ _| A{YH$V_ {hñgm h¡ ?

	 (A)	 H$mo`bm	 (B)	 bm¡h-A`ñH$
	 (C)	 MyZm nËWa	 (D)	 {Q>Z A`ñH$

	 9.	 Bg amÁ` _| _Zm`m OmZo dmbm Ë`mohma “ I_aN>R>” 
(H$_aN>R>) H$s H$Wm {H$g Ym{_©H$ J«ÝW go {b`m 
J`m h¡ ?

	 (A)	 am_m`U	 (B)	 _hm^maV
	 (C)	 ñH$ÝYnwamU	 (D)	 Jé‹T>nwamU

	 10.	 Bg amÁ` _| ^mÐnX Ho$ ewŠb nj H$s V¥Vr` {V{W 
H$mo _ZmZo  dmbm Ë`mohma H$m¡Z-gm h¡ ?

	 (A)	 nmobm	 (B)	 haobr
	 (C)	 VrOm	 (D)	 ^moObr

	 11.	 \$adar 2020 _| amÁ` H$mo {H$g H¥${f CËnmX _| 	
“ àW_ H¥${f H$_©U nwañH$ma” {X`m J`m h¡ ?

	 (A)	 AZmO	 (B)	 XbhZ
	 (C)	 ImÚmÝZ	 (D)	 {VbhZ

	 12.	 gyú_ qgMmB© `moOZm Ho$ AÝVJ©V bKw Am¡a  
gr_m§V H¥$fH$m| H$mo pñà¨H$ba na amÁ` H$m 
AZwXmZ {H$VZm à{VeV h¡ ?

	 (A)	 70 à{VeV	 (B)	 65 à{VeV

	 (C)	 33 à{VeV	 (D)	 37 à{VeV
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	 13.	 Which of the following statement is 
false regarding the first phase of British 
empire in this state ? 	

	 (A)	 The three year land revenue 
settlement was introduced

	 (B)	 In 1862 the chhattisgarh division 
was constituted

	 (C)	 The older system of administration 
was imposed

	 (D)	 The Municipal committees were 
setup in Raipur and Bilaspur

	 14.	 Match the following with the help of 
codes : 	

		  List – 1		  List – 2

	 1.	 Pt. Madhav	 a.	Arunodaya
		 Rao Sapre

	 2.	 Padumlal	 b.	Krishna 
		 Punnalal		 Janmasthan
		 Bakshi		 Patrika
	 3.	 Thakur Pyarelal	  c.	Chhattisgarh
		 Singh		 Mitra

	 4.	 Pt. Sundarlal	 d.	Saraswati
			  Sharma

	 Codes :

	 (A)	 1 – b, 2 – d, 3 – a, 4 – c

	 (B)	 1 – c, 2 – d, 3 – a, 4 – b

	 (C)	 1 – d, 2 – a, 3 – b, 4 – c

	 (D)	 1 – a, 2 – b, 3 – c, 4 – d

	 13.	 Bg amÁ` _| {~«{Q>e gm_«mÁ` Ho$ àma§{^H$ MaU _| 
{H$`o J`o H$m`m] _| AgË` H$m¡Z-gm h¡ ?

	 (A)	 ^y{_ amOñd H$m VrZ gmb ~§Xmo~ñV bmJy 
{H$`m J`m

	 (B)	 1862 B©. _| N>ÎmrgJ‹T> g§^mJ H$m JR>Z 
{H$`m J`m

	 (C)	 nwamZr àemg{ZH$ ì`dñWm H$mo bmJy {H$`m 
J`m

	 (D)	 am`nwa Am¡a {~bmgnwa _| å`w{Z{gnb H$_oQ>r 
H$m JR>Z {H$`m J`m

	 14.	 {ZåZ gy{M`m| H$mo Hy$Q> Ho$ AmYma na {_bmB`o :

		  gyMr – 1		  gyMr – 2

	 1.	 n§. _mYdamd gào	 a.	AéUmoX` 

	 2.	 nX_bmb nwÞmbmb	 b.	H¥$îU OÝ_ñWmZ	
~H$er		 n{ÌH$m

	 3.	 R>mHw$a ß`maobmb	  c.	N>ÎmrgJ‹T> {_Ì

		  qgh	
	 4.	 n§. gwÝXabmb	 d.	gañdVr

		  e_m©
	 Hy$Q> :	

	 (A)	 1 – b, 2 – d, 3 – a, 4 – c

	 (B)	 1 – c, 2 – d, 3 – a, 4 – b

	 (C)	 1 – d, 2 – a, 3 – b, 4 – c

	 (D)	 1 – a, 2 – b, 3 – c, 4 – d
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	 15.	 Which event of Raipur has been called as 
preamble of the Surat split of 1907  ?

	 (A)	 All India Congress Parishad on 
28 Feb. 1907

	 (B)	 Provincial Congress Committee 
meet on 29 March 1907

	 (C)	 Indian Cultural Parishad 
on 1 April 1907

	 (D)	 Workers Sammelan on 	
8 April 1907

	 16.	 In which tehsil is the Jhipan limestone 
area located  ?

	 (A)	 Baloda Bazar		  (B)	 Kharora
	 (C)	 Tilda		  (D)	 Simga

	 17.	 Who was conferred Mahatma Phule 
Samata Award in 2021 ?

	 (A)	 Chief Minister of Uttar Pradesh
	 (B)	 Chief Minister of Chhattisgarh
	 (C)	 Chief Minister of Bihar
	 (D)	 Chief Minister of Maharashtra

	 18.	 The number of Tiger Reserve in this 
State is 

	 (A)	 3	 (B)	 4
	 (C)	 2	 (D)	 1
	 19.	 Prabal Scheme of this State is associated 

with the problem of 
	 (A)	 Agriculture	 (B)	 Water 
	 (C)	 Electricity	 (D)	 Malnutrition

	 20.	 In this State, the number of districts are 
	 (A)	 27	 (B)	 28
	 (C)	 32	 (D)	 29

	 15.	 am`nwa H$s H$m¡Z-gr KQ>Zm H$mo gyaV \y$Q>> 1907 
H$s n¥îR>>^y{_ H$hm OmVm h¡ ?

	 (A)	 28 \$adar 1907 H$mo A{Ib ̂ maVr` H$m§J«og 
n[afX

	 (B)	 29 _mM© 1907 H$mo àm§Vr` H$m§J«og H$_oQ>r H$s 
~¡R>H$

	 (C)	 1 Aà¡b 1907 H$mo ^maVr` gm§ñH¥${VH$ 
n[afX

	 (D)	 8 Aà¡b 1907 H$mo _OXÿa gå_obZ

	 16.	 PrnZ MyZm nËWa joÌ {H$g Vhgrb _| pñWV h¡ ?

	 (A)	 ~bm¡Xm ~mOma	 (B)	 Iamoam
	 (C)	 {VëXm	 (D)	 {g_Jm

	 17.	 _hmË_m \w$bo g_Vm nwañH$ma 2021 {H$go {X`m 	
J`m ?

	 (A)	 CÎma àXoe Ho$ _w»`_§Ìr
	 (B)	 N>ÎmrgJ‹T> Ho$ _w»`_§Ìr
	 (C)	 {~hma Ho$ _w»`_§Ìr
	 (D)	 _hmamîQ´> Ho$ _w»`_§Ìr

	 18.	 Bg amÁ` _| Q>mBJa [aOd© H$s g§»`m h¡ 

	 (A)	 3	 (B)	 4
	 (C)	 2	 (D)	 1

	 19.	 Bg amÁ` H$s à~b `moOZm H$m g§~§Y {H$g g_ñ`m 
go h¡ ?

	 (A)	 H¥${f	 (B)	 Ob
	 (C)	 {~Obr	 (D)	 Hw$nmofU

	 20.	 Bg amÁ` _| {Obm| H$s g§»`m {H$VZr h¡ ?
	 (A)	 27	 (B)	 28
	 (C)	 32	 (D)	 29
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	 21.	 What is the meaning of the idiom  
‘Adrama Fatana’ of this state ?	

	 (A)	 Thunder Bolt	 (B)	 To do injustice

	 (C)	 Cheat	 (D)	 Earth bust

	 22.	 Name of the author of ‘A Chhattisgari 
Dialect of Hindi’.	

	 (A)	 Jhon Abraham Grierson
	 (B)	 Lochan Prasad Pandey
	 (C)	 Shuklal Pandey
	 (D)	 Narendra Dev Verma

	 23.	 In the social organization of the tribes 
their exogamy group 	

	 (A)	 Ghotul	 (B)	 Vansh
	 (C)	 Totam	 (D)	 Gotra

	 24.	 Match the following tribes and their 
youth homes.	

	 a.	 Paraja	 i.	 Dhasarvasa
	 b.	 Bhariya	 ii.	 Rang Bhang
	 c.	 Oraon	 iii.	 Dhaga Baxer
	 d.	 Bhuinya	 iv.	 Dhumkuria
		  a	 b	 c	 d
	 (A)	 iv	 i	 iii	 ii
	 (B)	 iii	 i	 iv	 ii
	 (C)	 i	 ii	 iv	 iii
	 (D)	 ii	 iii	 iv	 i

	 25.	 How many district Mineral Institution 
Trusts are established in the State ? 

	 (A)	 30	 (B)	 28
	 (C)	 27	 (D)	 26

	 21.	 Bg amÁ` H$m _whmdam ‘AXa_m \$mQ>Zm’ H$m 		
AW© h¡

	 (A)	 dO«nmV	 (B)	 AÝ`m` H$aZm
	 (C)	 YmoIm XoZm	 (D)	 YaVr \$Q>Zm

	 22.	 ‘ E N>ÎmrgJ‹T>r S>mBboŠQ> Am°\$ {hÝXr’ Ho$ 	
boIH$ h¢ 

	 (A)	 Om°Z A~«hm_ {J«`g©Z
	 (B)	 bmoMZ àgmX nmÊS>o`
	 (C)	 ewH$bmb nmÊS>o`
	 (D)	 ZaoÝÐXod d_m©

	 23.	 OZOm{V`m| Ho$ gm_m{OH$ g§JR>Z _| CZH$m 
~{h{d©dmhr g_yh hmoVm h¡

	 (A)	 KmoQy>b	 (B)	 d§e
	 (C)	 Q>moQ>_	 (D)	 JmoÌ

	 24.	 {ZåZ{b{IV OZOm{V Am¡a CZHo$ `wdmJ¥hm| H$mo 
gw_o{bV H$s{O`o &

	 a.	 naOm	 i.	 Ygadmgm
	 b.	 ^m[a`m	 ii.	 a§J ^§J
	 c.	 Cam§d	 iii.	 YmJm~mŠga
	 d.	 ^wB§`m	 iv.	 Yw_Hw$[a`m
		  a	 b	 c	 d
	 (A)	 iv	 i	 iii	 ii
	 (B)	 iii	 i	 iv	 ii
	 (C)	 i	 ii	 iv	 iii
	 (D)	 ii	 iii	 iv	 i

	 25.	 amÁ` _| {H$VZo {Obm I{ZO g§ñWmZ Ý`mg H$m 
JR>Z {H$`m J`m h¡ ?

	 (A)	 30	 (B)	 28
	 (C)	 27	 (D)	 26
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	 26.	 IZZ VWm CËIZZ joÌ H$s ^mJrXmar Bg amÁ` 
Ho$ gH$b Kaoby CËnmX _| pñWa H$s_Vm| na g~go 
A{YH$ H$_r {H$g df© _| Am`r h¡ ?

	 (A)	 2018-19
	 (B)	 2017-18
	 (C)	 2019-20
	 (D)	 2020-21

	 27.	 N>ÎmrgJ‹T> {_Zab S>oìhbn_oÝQ> H$mnm}aoeZ H$m JR>Z 
H$~ {H$`m J`m ?

	 (A)	 7 OyZ 2001
	 (B)	 7 OwbmB© 2001
	 (C)	 7 AJñV 2001
	 (D)	 7 {gVå~a 2001

	 28.	 AmarS>m|Jar bm¡h> A`ñH$ n[a`moOZm {H$g {Obo 
_o§ pñWV h¡ ?

	 (A)	 H$moÊS>mJm§d	 (B)	 Zmam`Unwa
	 (C)	 ~ñVa	 (D)	 H$m§Ho$a

	 29.	 {ZåZ{b{IV OZD$bm H$m AW© ~VbmB`o ‘ H$mQ>o 
bo H$Q>m`o Zr, ~m|Jo bo ~mo§Jm` Zrhr’ &

	 (A)	 _¥V eara	 (B)	 N>m`m
	 (C)	 JmoXZm	 (D)	 dm`w

	 30.	 {ZåZ{b{IV OZD$bm H$m AW© ~VbmB ò  
‘ZmZHy$Z {MaB© Sw>dm AgZ noQ> H$hm± Om~o {MaB© 
aVZnwa Xog’ &

	 (A)	 H$~yVa	 (B)	 H$be
	 (C)	 Vmbm~	 (D)	 {MÆ>r

	 26.	 In which year the participation 
percentage of Mining and Quarry in 
the State Gross Domestic Product 
has maximum declined ?

	 (A)	 2018-19
	 (B)	 2017-18
	 (C)	 2019-20
	 (D)	 2020-21

	 27.	 When was Chhattisgarh mineral 
development corporation formed ?

	 (A)	 7 June 2001
	 (B)	 7 July 2001

	 (C)	 7 August 2001
	 (D)	 7 September 2001

	 28.	 In which district is the Aridongri iron 
ore project located  ?

	 (A)	 Kondagaon	 (B)	 Narayanpur
	 (C)	 Bastar	 (D)	 Kanker

	 29.	 What is the meaning of the riddle ‘Kate 
le Katay ni, Bonge le Bongay Nihi’ ?

	 (A)	 Dead Body	 (B)	 Shadow
	 (C)	 Tattu	 (D)	 Air

	 30.	 What is the meaning of the riddle 
‘Nankun Chirai Dua asan pet Kahan 
Jabey Chirai Ratanpurdes’ ? 	

	 (A)	 Pigeon	 (B)	 Kalash
	 (C)	 Pond	 (D)	 Letter
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	 31.	 {ZåZm§{H$V dJ© Ho$ g^r eãX nwpëb¨J h¡ 

	 (A)	 Q>monr, AmQ>m, I{Q>`m, by

	 (B)	 JmZm, M_‹S>m, nmZ, ^yI

	 (C)	 H$n‹S>m, ~‹S>ßnZ, bJmZ, ~w‹T>mnm

	 (D)	 ß`mg, amoQ>r, N>V, ObZ

	 32.	 {Og H$_©Yma` H$m nyd©nX g§»`m~moYH$ hmo Cgo  
H$hVo h¢ 

	 (A)	 ~hþd«r{h g_mg	 (B)	 VËnwéf g_mg

	 (C)	 {ÛJw g_mg	 (D)	 Aì``r ^md g_mg

	 33.	 “_H©$Q>r”  H$m VX²^d ê$n Š`m h¡ ?
	 (A)	 _ÀN>a	 (B)	 _H$‹S>r
	 (C)	 _aKQ>	 (D)	 _ŠIr

	 34.	 A‹T>mB© hmW H$s H$H$‹S>r, Zm¡ hmW H$m ~rO-
bmoH$mopŠV H$m AW© h¡ 

	 (A)	 g§gmYZ H$s H$_r _| A`mo½` ~ZZm 
	 (B)	 {H$gr Ho$ n[al_ H$m bm^ {H$gr H$mo 		

{_bZm
	 (C)	 {OgZo Omo dñVw XoIr Z hmo, dh CgH$m AmZ§X 

Š`m OmZo
	 (D)	 AZhmoZr ~mV

	 35.	 ‘A_¥V’ H$m n`m©`dmMr eãX h¡ 

	 (A)	 Xm{‹S>_	 (B)	 _w±Xar

	 (C)	 e{eag	 (D)	 hÿa

PART – (2)
Language (Hindi, Chhattisgarhi, English) 

^mfm ({hÝXr, N>ËVrgJ‹T>r Ed§ A§J«oOr)

Language Hindi

^mfm {hÝXr
	 36.	 ‘àH$ma’ eãX {ZåZ dUm] go Ow‹S>H$a ~Zm h¡ 

	 (A)	 n² + a² + A + H²$ + Am + a² + A

	 (B)	 à + H²$ + A + a²

	 (C)	 n + a + H$m + a

	 (D)	 n² + a² + H$m + a² + A

	 37.	 ‘MmVw`©Vm’ H$m ewÕ ê$n h¡ 
	 (A)	 MmVwaVm	 (B)	 MVwaVm/MmVw`©
	 (C)	 MaU	 (D)	 BZ_| go H$moB© Zht 

	 38.	 ‘AnZm _Z bKw Z H$amo’  dmŠ` H$mo ewÕ H$s{O ò &
	 (A)	 AnZm _Z H$_ Z H$amo
	 (B)	 AnZm _Z jrU Z H$amo
	 (C)	 AnZm _Z N>moQ>m Z H$amo
	 (D)	 BZ_| go H$moB© Zht

	 39.	 {ZåZm§{H$V _| go {H$g eãX Ho$ g_ñV nX _| ÛÝÛ 
g_mg Zht h¡ ?

	 (A)	 bÈz>-no‹S>m	 (B)	 _y§J~‹S>m

	 (C)	 Xmb^mV	 (D)	 H$mOy-{H$g{_g

	 40.	 VËg_ eãX H$hVo h¢ 
	 (A)	 {hÝXr eãX H$mo

	 (B)	 g§ñH¥$V eãX H$mo

	 (C)	 XodZmJar {b{n H$mo

	 (D)	 CXÿ© eãX H$mo



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 -11-	 Set-A

		  	 32102/DE – TQD/RCE – E

Language Chhattisgarhi

^mfm N>ËVrgJ‹T>r 

	 41.	 N>ÎmrgJ‹T>rb amO^mgm Ho$ XOm© H$~ {_{bg ?

	 (A)	 28 Zdå~a 2007

	 (B)	 28 Zdå~a 2008

	 (C)	 28 Zdå~a 2009

	 (D)	 CnamoŠV _| go H$moB© Zht 

	 42.	 N>ÎmrgJ‹T>r Ho$ n{hbr ì`mH$aZ H$moZ ha {b{Ig ?
	 (A)	 n§. bmoMZ àgmX nmÊS>o`
	 (B)	 hrambmb H$mì`monmÜ`m`
	 (C)	 S>m°. ZaoÝÐ Xod d_m©
	 (D)	 CnamoŠV _| go H$moB© Zht

	 43.	 N>ÎmrgJ‹T>r ^mgm _ H$VoH$ ñda hmd` ?
	 (A)	 Xg
	 (B)	 ~mah
	 (C)	 AmR>
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 44.	 ‘Jaoam’ (Vy\$mZ) H$BgZ g§km Am` ?
	 (A)	 Ðì`dmMH$	
	 (B)	 g_yhdmMH$
	 (C)	 Om{VdmMH$	
	 (D)	 CnamoŠV _| go H$moB© Zht

	 45.	 N>ÎmrgJ‹T>r H$moZ {b{n _ {bIo Om`o ?

	 (A)	 amo_Z {b{n	

	 (B)	 Jwé_wIr {b{n

	 (C)	 XodZmJar {b{n	

	 (D)	 CnamoŠV _| go H$moB© Zht 

	 46.	 N>ÎmrgJ‹T>r ^mgm Ho$ OÝ_ H$moZ ê$n bo hmò  ho ?
	 (A)	 AY©_mJYr
	 (B)	 _JYr
	 (C)	 nydu {hÝXr
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 47.	 ‘VhgrbXma’ eãX N>ÎmrgJ‹T>r ^mgm _ H$moZ ^mgm 
bo Am` h¡ ?

	 (A)	 A§J«oOr
	 (B)	 .\$magr
	 (C)	 VwH$s©
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 48.	 ‘{_g{Var’ ({_ñÌr) eãX N>ÎmrgJ‹T>r _ H$moZ ^mgm 
bo Am` h¡ ?

	 (A)	 nwV©Jmbr
	 (B)	 .\$magr
	 (C)	 níVmo
	 (D)	 CnamoŠV _| go H$moB© Zht

	 49.	 ‘N>ÎmrgJ‹T>r XmZbrbm’ Ho$ boIH$ H$moZ ha Am` ?
	 (A)	 n§. _wHw$Q> Ya nmÊS>o`
	 (B)	 n§. gwÝXa bmb e_m©
	 (C)	 n§. í`m_ bmb MVwd}Xr
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 50.	 ‘g±Pm¡Vr Ho$ ~oQ>m’ H$moZ H${d Ho$ aMZm Am` ?
	 (A)	 H$moXÿam_ ‘X{bV’
	 (B)	 Ûm[aH$m àgmX {Vdmar ‘{dà’
	 (C)	 bIZ bmb JwßVm
	 (D)	 CnamoŠV _| go H$moB© Zht 
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	 51.	 The teacher ___________ asked the 
student to get out.

	 (A)	 entirely	
	 (B)	 merrily
	 (C)	 angrily	
	 (D)	 gently

	 52.	 Fill in the blank with correct pronoun :
Mr. Jain _____ is our Librarian showed 
me some new books.

	 (A)	 who	 (B)	 whom
	 (C)	 which	 (D)	 that

	 53.	 Choose the correct synonyms of the 
word ‘Placid’.

	 (A)	 Calm	 (B)	 Lazy
	 (C)	 Enjoy	 (D)	 Fun

	 54.	 Choose the word/phrase opposite in 
meaning of the underlined word :

		  Everybody was astonished when he 
used such a Profane language.

	 (A)	 Sacred	 (B)	 Pure
	 (C)	 Profound	 (D)	 High

	 55.	 Fill in the blank with suitable word :
		  My spectacles __________ left in the 

office.
	 (A)	 was
	 (B)	 were

	 (C)	 where
	 (D)	 none of the above

Language English

^mfm A§J«oOr

	 56.	 Which of the following will fill in the 
blank ?

		  Ice is _________ frozen water.
	 (A)	 a	 (B)	 the
	 (C)	 an	 (D)	 no article

	 57.	 Choose the alternative that best 
expresses the meaning of the 
underlined word :

		  The boy turned a deaf ear to the 
pleadings of all his well-wishers.

	 (A)	 Listened carefully
	 (B)	 Was deadly opposed
	 (C)	 Posed indifference
	 (D)	 Did not pay any attention

	 58.	 Choose the correct answer :
		  A hater of learning and knowledge 
	 (A)	 Misologist	 (B)	Misogynist
	 (C)	 Philanthropist	 (D)	Misanthropist

	 59.	 Choose the correct Passive form :
		  He writes poems.
	 (A)	 Poems are written by him
	 (B)	 They write poem
	 (C)	 Poems is written by them
	 (D)	 None of the above

	 60.	 Choose the correct Passive Voice 
sentence :

		  A bus knocked him down.
	 (A)	 Bus knock him down
	 (B)	 He was knocked down by a bus
	 (C)	 He was knock down the bus
	 (D)	 None of the above
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	 61.	 Based on the following bar diagram, 
in which year increase in percentage 
of doctors (D) is more than increase in 
percentage of patients (P) ?

	
	 (A)	 2005	 (B)	 2010
	 (C)	 2015	 (D)	 2020

	 62.	 A question is followed by two 
statements. You have to decide 
whether the data is sufficient to 
answer the question or not.

		  Question : In which year Madan’s 
sister Meena born ?

		  Statements :
	 I.	 Meena was 6 years old when 

Madan was in class 12.
	 II.	 Madan was 17 years old in 

class 12.
	 (A)	 Only I is sufficient
	 (B)	 Only II is sufficient
	 (C)	 Both I and II together are sufficient
	 (D)	 Both I and II together are also not 

sufficient

	 61.	 {ZåZ Am`V {MÌ Ho$ AmYma na {H$g df© S>m°ŠQ>a 
(D) Ho$ à{VeV _| d¥{Õ amo{J`m| (P) Ho$ à{VeV 
_| d¥{Õ go A{YH$ h¡ ?

	 (A)	 2005	 (B)	 2010
	 (C)	 2015	 (D)	 2020

	 62.	 EH$ àíZ Ho$ gmW Xmo H$WZ {X`o J`o h¡§& AmnH$mo 
`h {ZU©` H$aZm h¡ {H$ Am§H$‹S>o àíZ H$m CÎma XoZo 
Ho$ {bE n`m©ßV h¢ AWdm Zht &

	 	 àíZ : _XZ H$s ~hZ _rZm H$m OÝ_ {H$g df© 
hþAm Wm ?

		  H$WZ :
	 I.	 O~ _XZ H$jm 12 _| Wm Vmo _rZm 6 df© 

H$s Wr &
	 II.	 _XZ H$jm 12 _| 17 df© H$m Wm &

	 (A)	 Ho$db I n`m©ßV h¡
	 (B)	 Ho$db II n`m©ßV h¡
	 (C)	 XmoZm| I VWm II EH$ gmW {_bH$a n`m©ßV h¡§
	 (D)	 XmoZm| I VWm II EH$ gmW {_bH$a ^r n`m©ßV 

Zht h¢

Intelligence Test, Analytical and 	Logical 
Ability

~w{Õ_Îmm narjU, {díbofUmË_H$ Ed§ Vm{H©$H$ 
`mo½`Vm
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	 63.	 Find the related word to complete the 
analogy.

		  Holland : ? : : Italy : Lira

	 (A)	 Yatch	 (B)	 Dutch

	 (C)	 Taka	 (D)	 Dollar

	 64.	 Pointing to a boy, a man said, “his 
grandfather is the only son of my 
grandfather”. Then how is the man 
related to the boy ?

	 (A)	 Father	 (B)	 Brother

	 (C)	 Grandfather	 (D)	 Uncle

	 65.	 A man moves 10 meter towards north, 
then turns right and moves 10 meter, 
again turns right and moves 20 meter, 
again turns left and moves 10 meter. 
Then what is his present direction from 
the starting position ?

	 (A)	 East	 (B)	 South-East

	 (C)	 West	 (D)	 South-West

	 66.	 Six boys are sitting round a table. 
Ramu is not just side by side of 
Rizwan. Gopi is between Ramu and 
Rana. Shyam and Rizwan are sitting 
side by side. Smith is left of Ramu but 
right of Rizwan. Then who is in the right 
of Rana ?

	 (A)	 Gopi	 (B)	 Smith
	 (C)	 Ramu	 (D)	 Shyam

	 63.	 g_mZVm H$mo nyU© H$aZo Ho$ {bE g§~§{YV eãX 
Mw{ZE &

		  hm°b¡ÊS> : ? : : BQ>br : bram

	 (A)	 `mQ²>M	 (B)	 S>M

	 (C)	 Q>mH$m	 (D)	 S>mba

	 64.	 EH$ b‹S>Ho$ H$s Va\$ Bemam H$aVo hþE, EH$ 
AmX_r ~mobm, “BgHo$ XmXmOr _oao XmXmOr 
Ho$ BH$bm¡Vo nwÌ h¢” & V~ dh AmX_r Cg 
b‹S>Ho$ go H¡$go gå~pÝYV h¡ ?

	 (A)	 {nVm	 (B)	 ^mB©

	 (C)	 XmXmOr	 (D)	 MmMm

	 65.	 EH$ AmX_r 10 _rQ>a CÎma H$s Va\$ MbVm h¡, 
V~ Xm{hZo Ky_ OmVm h¡ VWm 10 _rQ>a MbVm h¡, 
nwZ: Xm{hZo Ky_ OmVm h¡ Am¡a 20 _rQ>a MbVm 
h¡, nwZ: ~m`| Ky_ OmVm h¡ Am¡a 10 _rQ>a MbVm 
h¡ & V~ ewéAmVr pñW{V go CgH$s dV©_mZ {Xem 
Š`m h¡ ?

	 (A)	 nya~	 (B)	 X{jU-nya~

	 (C)	 npíM_	 (D)	 X{jU-npíM_

	 66.	 N>: b‹S>Ho$ EH$ Jmob _oO Ho$ Mmam| Amoa ~¡R>o hþE h¢ & 
am_y [aOdmZ Ho$ R>rH$ ~Jb _| Zht h¡ & Jmonr, 
am_y VWm amUm Ho$ ~rM _| h¡ & í`m_ Am¡a [aOdmZ 
AJb-~Jb _| ~¡R>o h¢ & pñ_W, am_y Ho$ ~m`| h¡§ 
VWm [aOdmZ Ho$ Xm{hZo h¡§& V~ amUm Ho$ Xm{hZo _| 
H$m¡Z h¡ ?

	 (A)	 Jmonr	 (B)	 pñ_W
	 (C)	 am_y	 (D)	 í`m_
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	 67.	 Principle of a company is that it cannot 
keep more than 50% external persons 
at higher post. Ramjeewan is extremely 
meritorious, but he has to first work in 
that company at lower post for some 
days. Such type of decision will be in 
which category ?

	 (A)	 Minor decision
	 (B)	 Non-programmed decision
	 (C)	 Major decision
	 (D)	 Programmed decision

	 68.	 Present age of father is 30 times of 
the age of son 5 years ago, then the 
problem of finding ages of father and 
son will appear in which category ?

	 (A)	 Mining of data
	 (B)	 Informal retrieval
	 (C)	 Extraction
	 (D)	 Abstraction

	 69.	 Select the related word from the given 
alternatives.

		  Herbivorous : Carnivorous : :  
Inferno : ?

	 (A)	 Hell	

	 (B)	 Heaven

	 (C)	 Omnivorous	

	 (D)	 Parasite

	 67.	 EH$ H$ånZr H$m {gÕmÝV h¡ {H$ 50% go A{YH$ 

~mhar ì`pŠV H$mo CÀM nXm| na Zht aIZm h¡ & 

am_OrdZ ~hþV hr à{V^membr h¡, naÝVw Cgo Cg 

H$ånZr _| nhbo Hw$N> {XZm| Ho$ {bE {ZMbo nX 

na H$m_ H$aZm n‹S>oJm & Bg Vah H$m {ZU©` {H$g 

loUr _| Am`oJm ?

	 (A)	 bKw {ZU©`
	 (B)	 AH«$_mXo{eV {ZU©`
	 (C)	 ~¥hV {ZU©`
	 (D)	 H«$_mXo{eV {ZU©`

	 68.	 {nVm H$s dV©_mZ Am`w nwÌ H$s 5 df© nhbo H$s 
Am`w H$s 30 JwZr h¡, V~ {nVm VWm nwÌ H$s Am`w  
kmV H$aZm g_ñ`m hb H$aZo H$s {H$g loUr _| 
AmVm h¡ ?

	 (A)	 Am§H$‹S>m| H$m IZZ
	 (B)	 AZm¡nMm[aH$ nwZàm©pßV
	 (C)	 {ZîH$f©U
	 (D)	 A_yV©Vm

	 69.	 {X`o J`o {dH$ënm| go gå~pÝYV eãX H$m M`Z 
H$s{OE &

		  emH$mhmar : _m§gmhmar : : ZaH$ : ?

	 (A)	 hob	

	 (B)	 ñdJ©

	 (C)	 gdm©hmar	

	 (D)	 naOrdr
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	 70.	 Select the related number from the 
given alternatives.

		  7 : 3164 : : 9 : ?
	 (A)	 6237	 (B)	 6337
	 (C)	 6427	 (D)	 6437

	 71.	 The number that bears same ratio with 

24 as 
11
3

bears with 
8
5

 is

	 (A)	
5
8

	 (B)	 55

	 (C)	 88	 (D)	 None of these

	 72.	 If total production of food grain in 
India in 2020 was 7200 metric tonne, 
then what was the production of rice 
according to the following pie chart ?

	 (A)	 720 metric tonne

	 (B)	 150 metric tonne
	 (C)	 3000 metric tonne
	 (D)	 300 metric tonne

	 70.	 {X`o J`o {dH$ënm| go gå~pÝYV g§»`m Mw{ZE &
		  7 : 3164 : : 9 : ?

	 (A)	 6237	 (B)	 6337
	 (C)	 6427	 (D)	 6437

	 71.	 dh g§»`m {OgH$m 24 Ho$ gmW dhr AZwnmV h¡ 

Omo 
11
3  H$m 

8
5

 Ho$ gmW, h¡

	 (A)	
5
8

	 (B)	 55

	 (C)	 88	 (D)	 BZ_| go H$moB© Zht

	 72.	 `{X 2020 _| ^maV H$m Hw$b AZmO 
CËnmXZ 7200 {_{Q´>H$ Q>Z Wm, V~ {ZåZ 
nmB© MmQ>© Ho$ AZwgma Mmdb H$m CËnmXZ 
{H$VZm Wm ?

	 (A)	 720 {_{Q´>H$ Q>Z

	 (B)	 150 {_{Q´>H$ Q>Z

	 (C)	 3000 {_{Q´>H$ Q>Z

	 (D)	 300 {_{Q´>H$ Q>Z
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	 73.	 On the basis of the following bar diagram, 
what will be the number of vehicles in  
2030 ?

		
	 (A)	 25 lakh

	 (B)	 30 lakh

	 (C)	 27 lakh
	 (D)	 Data insufficient

	 74.	 Based on the following graph, during 
which month Covid deaths increased 
rapidly ?

	 (A)	 July – Aug.	

	 (B)	 May – June
	 (C)	 April – May	
	 (D)	 January – Feb.

	 73.	 {ZåZ Am`V {MÌ Ho$ AmYma na 2030 _| Jm{‹S>`m| 
H$s g§»`m {H$VZr hmoJr ?

		
	 (A)	 25 bmI

	 (B)	 30 bmI

	 (C)	 27 bmI

	 (D)	 Am§H$‹S>m An`m©ßV

	 74.	 {ZåZ J«m\$ Ho$ AmYma na, {H$g _mh _| H$mo{dS> 
_¥Ë`w VoOr go ~‹T>r ?

	 (A)	 OwbmB© – AJñV	

	 (B)	 _B© – OyZ
	 (C)	 Aà¡b – _B©	
	 (D)	 OZdar – \$adar
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	 75.	 “A” is taller than “B” but shorter than 
“C” and if “B” is just as tall as “D” but 
taller than “E”. what is true about “D” ?

	 (A)	 D is taller than A
	 (B)	 D is as tall as C
	 (C)	 D is shorter than A
	 (D)	 D is shorter than E

	 76.	 A contingent of 50 players sent by a 
country for participating in Olympic 
in which the contingent returned with 
a single medal while it returned with 
10 medals previously. Then what 
conclusion emerges from it ?

	 (A)	 There is partiality in selection

	 (B)	 Selected players did not gave 
attention on game

	 (C)	 Environment of organizing country 
was adverse

	 (D)	 Technical knowledge of games 
was not given to players

	 77.	 Which one set of letters when 
sequentially placed at the gaps in 
the given letter series will give a 
meaningful word ?

		  _ mri _ M_ ho_ sav

	 (A)	 A t a t	

	 (B)	 B s u s

	 (C)	 T A a t	

	 (D)	 A t t a

	 75.	 “A” “B” go b§~m h¡ na§Vw “C” go N>moQ>m h¡ Am¡a 
`{X “B” “D” {OVZm b§~m h¡ na§Vw “E” go b§~m 
h¡&  “D” Ho$ g§~§Y _| Š`m gË` h¡ ?

	 (A)	 D, A go b§~m h¡
	 (B)	 D, C {OVZm b§~m h¡

	 (C)	 D, A go N>moQ>m h¡
	 (D)	 D, E go N>moQ>m h¡

	 76.	 EH$ Xoe Zo AmobpånH$ _| ^mJ boZo Ho$ {bE 
		  50 {Ibm{‹S>`m| H$m EH$ Xb ^oOm {Og_| EH$ 

hr nXH$ boH$a Xb bm¡Q>r O~{H$ BgHo$ nhbo 
10 nXH$ boH$a bm¡Q>r Wr & V~ Bggo Š`m 
{ZîH$f© {ZH$bVm h¡ ?

	 (A)	 M`Z _| njnmV hþAm h¡ 

	 (B)	 M`{ZV {Ibm{‹S>`m| Zo Iob na Ü`mZ Zht 
{X`m 

	 (C)	 Am`moOH$ Xoe H$m dmVmdaU à{VHy$b Wm 

	 (D)	 {Ibm{‹S>`m| H$mo Iob H$m VH${ZH$s kmZ Zht 
{X`m J`m 

	 77.	 {X`o J`o Aja loUr Ho$ Imbr ñWmZm| _| Ajam| 
Ho$ {H$g g_wÀM` H$mo H«$_ go aIm Om` Omo {H$ 
EH$ AW©nyU© eãX Xo ?

		  _ mri _ M_ ho_ sav

	 (A)	 A t a t	

	 (B)	 B s u s

	 (C)	 T A a t	

	 (D)	 A t t a
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	 78.	 Find the odd one out from the given 
alternatives.

	 (A)	 22

	 (B)	 39
	 (C)	 28
	 (D)	 51

	 79.	 If A wants to maintain relationship with 
his unemployed friends, then he should 
adjust his behaviour and relationships 
with them based on the following

	 (A)	 Entertaining

	 (B)	 Communicating vacancies

	 (C)	 Tips of his achievements

	 (D)	 Regular talking

	 80.	 Two teams P and Q with 12 members 
each start travelling by the same 
train with AC and non-AC coaches 
respectively and return after two 
days by the same mode. What will  
happen ?

	 (A)	 No impact will be on their 
relationship

	 (B)	 Team P is most likely to be 
informal than team Q

	 (C)	 Team Q is most likely to be 
informal than team P

	 (D)	 No conclusion can be drawn

	 78.	 {X ò J ò {dH$ënm| _| go {df_ nX kmV H$s{OE &

	 (A)	 22

	 (B)	 39
	 (C)	 28
	 (D)	 51

	 79.	 `{X A AnZo ~oamoOJma {_Ì Ho$ gmW g§~§Y ~Zm`o 
aIZm MmhVm h¡, V~ {ZåZ Ho$ AmYma na Cgo AnZo 
ì`dhma Ed§ CZHo$ gmW g§~§Ym| H$mo g_m`mo{OV 
H$aZm Mm{hE

	 (A)	 _Zmoa§OZ H$aZm

	 (B)	 [apŠV`m| H$mo g§gy{MV H$aZm

	 (C)	 AnZr CnbpãY`m| Ho$ ZwñIo ~VmZm

	 (D)	 bJmVma ~mVMrV H$aZm

	 80.	 Xmo Xb P Am¡a Q, àË`oH$ 12 gXñ`m| H$m, EH$ 
hr Q´>oZ go H«$_e: E.gr. VWm Zm°Z-E.gr. H$moM 
go `mÌm àmaå^ H$aVm h¡ Am¡a Xmo {XZ ~mX Cgr 
àH$ma bm¡Q>Vm h¡ & Š`m hmoJm ?

	 (A)	 CZHo$ g§~§Ym| na H$moB© à^md Zht n‹S>oJm 

	 (B)	 Q>r_ Q  go Q>r_ P gm_mÝ` ê$n go AZm¡nMm[aH$ 
ahoJm 

	 (C)	 Q>r_ P go Q>r_ Q gm_mÝ` ê$n go AZm¡nMm[aH$ 
ahoJm 

	 (D)	 H$moB© {ZîH$f© Zht {ZH$mbm Om gH$Vm h¡ 
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	 81.	 If Anmol tops in his class, Anamika will 
buy a bat. Anamika bought a bat but 
Anmol did not top in his class. Then 
the truth value of above statement is

	 (A)	 True	
	 (B)	 False
	 (C)	 Inconclusive
	 (D)	 None of these	

	 82.	 Earthquake in some place will occur 
only if there is deforestation. What 
happens if there is afforestation ?

	 (A)	 Earthquake will occur
	 (B)	 Earthquake will not occur

	 (C)	 Earthquake may or may not 
occur

	 (D)	 None of these

	 83.	 Consider the following statement and 
decide which of the given assumptions 
are implicit ?

		  Statement : It is dangerous to attend 
marriage parties during Corona.

		  Assumptions :

	 I.	 Police will harass.
	 II.	 Generally people get affected from 

Corona during gathering.

	 (A)	 Only I is implicit

	 (B)	 Only II is implicit

	 (C)	 Both I and II are implicit
	 (D)	 Neither I nor II is implicit

	 81.	 `{X AZ_mob AnZr H$jm _| Aìdb AmVm h¡, Vmo 
AZm{_H$m Cgo EH$ ~ëbm IarXH$a XoJr& AZm{_H$m 
Zo ~ëbm IarXm na§Vw AZ_mob H$jm _| Aìdb Zht 
Am`m Vmo CŠV H$WZ H$m gË`Vm _mZ h¡

	 (A)	 gË`
	 (B)	 AgË`
	 (C)	 A{ZUuV
 	 (D)	 BZ_| go H$moB© Zht

	 82.	 Hw$N> ñWmZm| na ^yH§$n V~ AmEJm O~ dZmoÝ_ybZ 
hmoJm& `{X dZamonU hmoJm Vmo Š`m hmoJm ?

	 (A)	 ^yH§$n AmEJm

	 (B)	 ^yH§$n Zht AmEJm
	 (C)	 ^yH§$n Am ^r gH$Vm h¢ Zht ^r

	 (D)	 BZ_| go H$moB© Zht

	 83.	 {ZåZ{b{IV H$WZ na {dMma H$s{OE VWm 
{ZU©` H$s{OE {H$ Xr J`r _mÝ`VmAm| _| go 
H$m¡Z-gm AÝV{Z©{hV h¡ ?

	 	 H$WZ : H$moamoZm Ho$ Xm¡amZ {ddmh g_mamoh _| ^mJ 
boZm IVaZmH$ h¡ &

		  _mÝ`VmE± :

	 I.	 nw{bg naoemZ H$aoJr &
	 II.	 gm_mÝ`V: ^r‹S>^m‹S> Ho$ Xm¡amZ bmoJ H$moamoZm 

go à^m{dV hmo OmVo h¢ &

	 (A)	 Ho$db I AÝV{Z©{hV h¡ 

	 (B)	 Ho$db II AÝV{Z©{hV h¡ 

	 (C)	 I VWm II XmoZm| AÝV{Z©{hV h¡§ 

	 (D)	 Z hr I Am¡a Z hr II AÝV{Z©{hV h¡ 
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	 84.	 Consider the following statement and 
decide which of the given assumptions 
are implicit ?

		  Statement : Price hike of diesel 
provokes price rise of each 
commodity.

		  Assumptions :

	 I.	 Transportations mainly depend on 
diesel.

	 II.	 Merchants misuse price hike of 
diesel.

	 (A)	 Only I is implicit

	 (B)	 Only II is implicit

	 (C)	 Both I and II are implicit

	 (D)	 Neither I nor II is implicit

	 85.	 You are in a village and on the next 
day you have to go for examination in 
a nearby city. What will you do first ?

	 (A)	 To plan for going

	 (B)	 To think about merits and demerits 
of the examination

	 (C)	 To prepare for examination

	 (D)	 To activate the plan of going

	 84.	 {ZåZ{b{IV H$WZ na {dMma H$s{OE VWm {ZU©` 
H$s{OE {H$ Xr JB© _mÝ`VmAm| _| go H$m¡Z-gm 
AÝV{Z©{hV h¡ ?

		  H$WZ : S>rOb H$s H$s_V ~‹T>Zo go g^r gm_{J«`m| 
H$s H$s_V ~‹T> OmVr h¡ &

	 	 _mÝ`VmE± :

	 I.	 `mVm`mV _w»`V: S>rOb na {Z^©a  
H$aVm h¡ &

	 II.	 ì`mnmar S>rOb Ho$ _yë` d¥{Õ H$m Xþén`moJ 
H$aVo h¢ &

	 (A)	 Ho$db I AÝV{Z©{hV h¡ 

	 (B)	 Ho$db II AÝV{Z©{hV h¡ 

	 (C)	 I VWm II XmoZm| AÝV{Z©{hV h¡ 

	 (D)	 Z hr I Am¡a Z hr II AÝV{Z©{hV h¡ 

	 85.	 Amn EH$ Jm±d _| h¢ VWm AJbo {XZ narjm XoZo nmg 
Ho$ EH$ eha _| OmZm h¡ & g~go nhbo Amn Š`m  
H$a|Jo ?

	 (A)	 OmZo H$s `moOZm ~Zm`|Jo 

	 (B)	 narjm Ho$ JwU-Xmof na {dMma H$a|Jo 

	 (C)	 narjm H$s V¡`mar H$a|Jo 

	 (D)	 OmZo H$s `moOZm {H«$`mpÝdV H$a|Jo
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	 86.	 An employee becomes late in office 

regularly since 15 days and also not 

working seriously while he was not so 

earlier. The office head have to take 

decision of action on him. In which 

of the following category will be the 

decision of the office head ?

	 (A)	 Programmed decision

	 (B)	 Major decision

	 (C)	 Non-programmed decision

	 (D)	 Simple decision

	 87.	 If ‘POSTER’ is coded as ‘SFUTPQ’, 

then ‘DOMINO’ will be coded as

	 (A)	 ONIMOD	

	 (B)	 POJNPE

	 (C)	 EPNJOP	

	 (D)	 ODIMON

	 86.	 EH$ H$_©Mmar H$m`m©b` _| 15 {XZ go bJmVma 

{dbå~ go Am ahm h¡ Am¡a _Z go H$m_ ^r Zht 

H$a ahm h¡ O~{H$ dh nhbo H$^r Eogm Zht Wm & 

CgHo$ D$na H$m`©dmhr H$m {ZU©` H$m`m©b` à_wI 

H$mo boZm h¡ & H$m`m©b` à_wI H$m {ZU©` {ZåZ _| 

go {H$g loUr H$m hmoJm ?

	 (A)	 H«$_mXo{eV {ZU©`

	 (B)	 ~¥hV {ZU©`

	 (C)	 AH«$_mXo{eV {ZU©`

	 (D)	 gm_mÝ` {ZU©`

	 87.	 `{X ‘POSTER’ H$m Hy$Q> h¡ ‘SFUTPQ’, V~ 

‘DOMINO’ H$m Hy$Q> hmoJm 

	 (A)	 ONIMOD	

	 (B)	 POJNPE

	 (C)	 EPNJOP	

	 (D)	 ODIMON
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	 88.	 `{X Z`o ñWmZ na OmH$a {Xem H$m ^«_ hmo OmVm 
h¡ Am¡a dmñV{dH$ CÎma H$s {Xem _| Cgo nya~ 
bJVm h¡, V~ dmñV{dH$ X{jU-nya~ {Xem _| 
Cgo H$m¡Z-gr {Xem bJoJm ?

	 (A)	 npíM_-X{jU	

	 (B)	 CÎma-nya~

	 (C)	 CÎma-npíM_	

	 (D)	 BZ_| go H$moB© Zht

	 89.	 `{X Z = 1, MAN = 53, V~ DOG = ?

	 (A)	 56

	 (B)	 54

	 (C)	 55

	 (D)	 27

	 90.	 `{X b‹S>H$m| Ho$ EH$ n§pŠV _| h[a AÝV go 5 dm± h¡ 
VWm Amaå^ go Vrgam h¡, V~ Cg n§pŠV _| {H$VZo 
b‹S>Ho$ h¢ ?

	 (A)	 8

	 (B)	 7

	 (C)	 9

	 (D)	 11

	 88.	 If visiting at new place direction illusion 
appears and he feels east of real north 
direction, then what will he feel in the 
real south-east direction ?

	 (A)	 West-South	

	 (B)	 North-East

	 (C)	 North-West	

	 (D)	 None of these

	 89.	 If Z = 1, MAN = 53, then DOG = ?

	 (A)	 56	

	 (B)	 54

	 (C)	 55	

	 (D)	 27

	 90.	 If in a row of boys Hari is 5th from end 
and 3rd from beginning, then how many 
boys are there in the row ?

	 (A)	 8	

	 (B)	 7

	 (C)	 9	

	 (D)	 11
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	 91.	 The equivalent resistance of the 
following network of infinite number 
of resistance is	

 2Ω  2Ω  2Ω

 2Ω  2Ω  2Ω

 2Ω  2Ω  2Ω

 A

 b

	 (A)	 5.46 Ω 	 (B)	 4 Ω
	 (C)	 8.5 Ω 	 (D)	 12 Ω

	 92.	 A current of 2 A passing through conductor 
produces 80 J of heat in 10 seconds. 	
The resistance of the conductor is

	 (A)	 0.5 Ω 	
	 (B)	 2 Ω
	 (C)	 4 Ω 	
	 (D)	 20 Ω

	 93.	 A long straight wire of radius ‘a’ 
carries a steady current ‘i’. The 
current is distributed across its cross 
section. The ratio of magnetic fields 
at a 2 and 2a distances is

	 (A)	
1
4 	 (B)	 4

	 (C)	 1	 (D)	
1
2

	 94.	 The magnetic flux linked with a vector 
A


 in a uniform magnetic field b


 is

	 (A)	 B A
 

× 	 (B)	 A.B

	 (C)	 B A
 

. 	 (D)	 b
A

PART – (4)

Agriculture, Biology, Botany, Chemistry, 
Forestry, Geology, Mathematics and 

Physics

H¥${f, Ord-{dkmZ Ed§ dZñn{V emñÌ, agm`Z emñÌ, 
dm{ZH$s, ^y-J^© {dkmZ, J{UV Ed§ ^m¡{VH$ {dkmZ

	 91.	 AZÝV g§»¶m Ho$ à{VamoYm| Ho$ {ZåZ ZoQ>dH©$ H$m 
Vwë¶ à{VamoY hmoJm

 2Ω  2Ω  2Ω

 2Ω  2Ω  2Ω

 2Ω  2Ω  2Ω

 A

 b

	 (A)	 5.46 Ω 	 (B)	 4 Ω
	 (C)	 8.5 Ω 	 (D)	 12 Ω

	 92.	 {H$gr MmbH$ go 2 A Ymam 10 goH$ÊS> VH$ àdm{hV 
H$aZo na 80 J D$î_m CËnÞ hmoVr h¡ & MmbH$ H$m 
à{VamoY hmoJm

	 (A)	 0.5 Ω
	 (B)	 2 Ω
	 (C)	 4 Ω
	 (D)	 20 Ω

	 93.	 EH$ bå~o grYo Vma H$s {ÌÁ¶m ‘a’ h¡ & Bg‘o§ pñWa 
Ymam ‘i’ àdm{hV hmoVr h¡ & Ymam AZwàñW n[aÀN>oX 
Ho$ n[aV: g‘mZ {dV[aV hmoVr h¡& V~ a

2 VWm 
2a Xÿ[a¶mo§ na Mwå~H$s¶ joÌmo§ H$m AZwnmV h¡

	 (A)	
1
4 	 (B)	 4

	 (C)	 1	 (D)	
1
2

	 94.	 EH$ g‘mZ Mwå~H$s¶ joÌ b


 ‘| pñWV {H$gr g{Xe 
A


 go gå~Õ Mwå~H$s¶ âbŠg hmoJm

	 (A)	 B A
 

× 	 (B)	 A.B

	 (C)	 B A
 

. 	 (D)	 b
A
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	 95.	 L bå~mB© Ed§ M  Mwå~H$s¶ AmKyU© dmbo EH$ 
bmoho Ho$ am°S> H$mo AY©d¥ÎmmH$ma AmH¥${V ‘| _mo‹S>m 
OmVm h¡ & A~ BgH$m Mwå~H$s¶ AmKyU© hmoJm

	 (A)	 M	 (B)	 2M
π

	 (C)	 M
π 	 (D)	 Mπ

	 96.	 EH$ KZ H$s EH$ ^wOm 10 S>ogr _r. h¡, V~ 
CgH$m Am`VZ {H$VZm KZ {_br _r. h¡ ? 

	 (A)	 1000000000	(B)	 1000
	 (C)	 1000000	 (D)	 100000

	 97.	 EH$ Am`V H$s bå~mB© 5 go_r. VWm Mm¡‹S>mB© 
10 _rbr _r. h¡, V~ CgH$m joÌ\$b {H$VZm 
dJ©_rQ>a h¡ ?

	 (A)	 0.00005	 (B)	 0.0005
	 (C)	 50	 (D)	 0.005

	 98.	 6
1
4

 =

	 (A)	 3.4	 (B)	 12.5

	 (C)	 6.5	 (D)	 BZ_| go H$moB© Zht

	 99.	 3028576 _| 8 H$m ñWmZr` _mZ h¡

	 (A)	 8	 (B)	 800
	 (C)	 8000	 (D)	 1000

	100.	 BZ_| go H$m¡Z-gm {d{Y _¥Xm g§ajU _| Zht 
AmVr h¡ ?

	 (A)	 AÝVd©Vu` \$gb

	 (B)	 _pëM¨J
	 (C)	 H$ÝQy>a OwVmB©
	 (D)	 Anj`

	 95.	 An iron rod of length L and magnetic 
moment M is bent in the form of a 
semicircle. now the magnetic moment 
will be

	 (A)	 M	 (B)	 2M
π

	 (C)	 M
π 	 (D)	 Mπ

	 96.	 A side of a cube is 10 deci m., then 
how many cubic mm. is its volume ? 

	 (A)	 1000000000	(B)	 1000
	 (C)	 1000000	 (D)	 100000

	 97.	 A rectangle is of length 5 cm. and 
breadth 10 mm., then how many 
square meter is its area ?	

	 (A)	 0.00005	 (B)	 0.0005
	 (C)	 50	 (D)	 0.005

	 98.	 6
1
4

 = 

	 (A)	 3.4	 (B)	 12.5

	 (C)	 6.5	 (D)	 None of these

	 99.	 The place value of 8 in 3028576 is

	 (A)	 8	 (B)	 800
	 (C)	 8000	 (D)	 1000

	100.	 Which of the following is not a method 
of soil conservation ?	

	 (A)	 Intercropping
	 (B)	 Mulching
	 (C)	 Contour ploughing

	 (D)	 Weathering



	 -26-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		 32102/DE – TQD/RCE – E

	101.	 For each molecule of glucose formed 
in plants, the number of molecules 
of ATP and NADPH2 required are 
respectively

	 (A)	 15 and 10	 (B)	 12 and 18
	 (C)	 18 and 12	 (D)	 18 and 38

	102.	 The process by which water enters the 
roots due to diffusion is called

	 (A)	 Active absorption
	 (B)	 Passive absorption
	 (C)	 Endocytosis
	 (D)	 Osmosis

	103.	 Reabsorption of water in the kidney is 
under the control of which hormone ?

	 (A)	 acth	 (B)	 adh
	 (C)	 fah 	 (D)	 LH

	104.	 The process of the formation of seeds 
without fertilization in flowering plants 
is called

	 (A)	 Parthenocarpy

	 (B)	 Parthenogenesis
	 (C)	 Apomixis
	 (D)	 Pseudocarpy

	105.	 The function of filiform apparatus in 
embryosac is to

	 (A)	 Guide the entry of pollen tube
	 (B)	 Recognise the suitable pollen at 

stigma
	 (C)	 Stimulate division of generative cell

	 (D)	 Produce nector

	101.	 nm¡Ym| _| ~ZZo dmbo ½byH$moO Ho$ àË`oH$ AUw Ho$ 
{Z_m©U Ho$ {bE ATP Ed§ NADPH2 Ho$ AUwAm| 
H$s Amdí`H$ g§»`m H«$_e: hmoVr h¡

	 (A)	 15 Ed§ 10	 (B)	 12 Ed§ 18
	 (C)	 18 Ed§ 12	 (D)	 18 Ed§ 38

	102.	 à{H«$`m {OgHo$ Ûmam O‹S>m| _| {dgaU Ho$ H$maU 
nmZr àdoe H$aVm h¡

	 (A)	 g{H«$` AdemofU
	 (B)	 A{H«$` AdemofU
	 (C)	 EÊS>mogm`Q>mo{gg
	 (D)	 namgaU

	103.	 d¥ŠH$ _| nmZr H$m nwZ:AdemofU {H$g hm_m}Z Ho$ 
{Z`§ÌU _| hmoVm h¡ ?

	 (A)	 acth	 (B)	 adh
	 (C)	 fah 	 (D)	 LH

	104.	 nwînr` nm¡Ym| _| {ZfoMZ Ho$ {~Zm hr ~rOmo§ H$m 
{Z_m©U hmoZm H$hbmVm h¡ 

	 (A)	 nmW}ZmoH$mnu
	 (B)	 nmW}Zmo{OZo{gg
	 (C)	 Ag§J OZZ
	 (D)	 ñ`yS>moH$mnu

	105.	 ^«yUH$mof _| {\$br\$m_© CnH$aU H$m H$m`© h¡ 

	 (A)	 namJZbr Ho$ àdoe H$m _mJ©Xe©Z
	 (B)	 pñQ>½_m na g_w{MV namJ H$s nhMmZ 		

H$aZm
	 (C)	 OZZ H$mo{eH$m Ho$ {d^mOZ H$mo CÔr{nV 

H$aZm
	 (D)	 ZoŠQ>a H$m CËnmXZ
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	106.	 Who gave “zero budget natural 		
farming” concept ?

	 (A)	 Subhash Palekar
	 (B)	 M. S. Swaminathan
	 (C)	 Ashok Gulati
	 (D)	 Ashok Dalwai

	107.	 Which Indian state has highest 
forest 	cover ?

	 (A)	 Chhattisgarh
	 (B)	 Andhra Pradesh
	 (C)	 Assam
	 (D)	 Madhya Pradesh

	108.	 “Brown manuring” a recent approach 
of weed control which is mostly  
used in

	 (A)	 Maize
	 (B)	 Sugarcane
	 (C)	 Wheat
	 (D)	 Direct seeded rice

	109.	 What is called as the percentage of 
C.C.A. irrigation at a time in one crop 
season ?

	 (A)	 Gross command area

	 (B)	 Culturable cultivated area

	 (C)	 Culturable uncultivated area

	 (D)	 Intensity of irrigation

	106.	 “ Oramo ~OQ> ZoMwab \$m{_ªJ ” H$s n[aH$ënZm 	
{H$gZo Xr ?

	 (A)	 gw^mf nmboH$a
	 (B)	 E_. Eg. ñdm{_ZmWZ
	 (C)	 AemoH$ JwbmQ>r
	 (D)	 AemoH$ XbdB©

	107.	 {H$g amÁ` _| g~go Á`mXm dZ H$m joÌ h¡ ?

	 (A)	 N>ËVrgJ‹T>>
	 (B)	 Am§Y« àXoe
	 (C)	 Amgm_
	 (D)	 _Ü` àXoe

	108.	 “ ~«mCZ _oÝ`y[a¨J ”, IanVdma amoH$Wm_ Ho$ {b`o 
EH$ ZB© {d{Y h¡ Omo {H$ _w»`V: Cn`moJ _| bmB© 
OmVr h¡

	 (A)	 _ŠH$m
	 (B)	 JÝZm
	 (C)	 J|hÿ±
	 (D)	 grYr ~wAmB© YmZ

	109.	 qgMmB© Ho$ gr.gr.E. à{VeV Omo {H$ EH$ \$gb 
_m¡g_ _| EH$ g_` na hmoVm h¡ H$hVo h¡§

	 (A)	 J«mog H$_mÝS> E[a`m

	 (B)	 H$ëMao~b H$pëQ>doQ>oS> E[a`m

	 (C)	 H$ëMao~b AZH$pëQ>doQ>oS> E[a`m

	 (D)	 qgMmB© H$s BÝQ>opÝgQ>r
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	110.	 Which of the following committee has 
been constituted to prepare a blueprint 
for doubling the farmers’ income by 
2022 ?

	 (A)	 D. R. Gadgil Committee
	 (B)	 Kasturi Rangan Committee
	 (C)	 Ashok Dalwai Committee
	 (D)	 Justice Lodha Committee

	111.	 The S wave shadow zone is caused 
by the

	 (A)	 Crust-Mantle Boundary	

	 (B)	 Lower Mantle

	 (C)	 Outer Core	

	 (D)	 Inner Core

	112.	 Which of the following represents the 
longest time period ?

	 (A)	 Precambrian

	 (B)	 Palaeozoic

	 (C)	 Mesozoic	

	 (D)	 Cenozoic

	113.	 Which one of the following is not a 
strong bond ?

	 (A)	 Van der waals bond	

	 (B)	 Covalent bond

	 (C)	 Metallic bond	

	 (D)	 Ionic bond

	110.	 BZ_| go H$m¡Z-gr H$_oQ>r {H$gmZm| H$s 2022 VH$ 
Am` XþJwZr H$aZo H$m ImH$m V¡`ma H$aZo Ho$ {b`o 
~ZmB© J`r Wr ?

	 (A)	 S>r. Ama. JmS>{Jb H$_oQ>r
	 (B)	 H$ñVyar a§JZ H$_oQ>r
	 (C)	 AemoH$ XbdB© H$_oQ>r
	 (D)	 OpñQ>g bmo‹T>>>m H$_oQ>r

	111.	 S Va§J N>m`m joÌ _______ Ûmam hmoVm h¡&

	 (A)	 H«$ñQ>-_¢Q>b gr_m

	 (B)	 {ZåZ _¢Q>b

	 (C)	 ~mø H$moa

	 (D)	 Am§V[aH$ H$moa

	112.	 {ZåZ{b{IV _| go H$m¡Z-gm gdm©{YH$ b§~o H$mb 
H$mo Xem©Vm h¡ ?

	 (A)	 àrH¡$på~«`Z	

	 (B)	 nwamOrdr

	 (C)	 _Ü`Ordr

	 (D)	 ZdOrdr

	113.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ _O~yV 
~§Y Zht h¡ ?

	 (A)	 d¡Z S>a dmëg ~§Y

	 (B)	 ghg§`moOr ~§Y

	 (C)	 YmpËdH$ ~§Y

	 (D)	 Am`Zr` ~§Y
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	114.	 Monazite sand contains ________ 
mineral.

	 (A)	 Oil

	 (B)	 Uranium

	 (C)	 Thorium

	 (D)	 Coal

	115.	 What is the common wavelength band 
which electro-optical scanners work 
with ?

	 (A)	 0.3 and 0.9 µm	
	 (B)	 0.3 and 14 µm

	 (C)	 0.9 and 14 µm	

	 (D)	 0.9 and 1.4 µm

	116.	 Lack of independent assortment of two 
genes is due to 

	 (A)	 Repulsion

	 (B)	 Linkage

	 (C)	 Crossing over

	 (D)	 Recombination

	117.	 23250 germ plasm of rice is available 
at Gene Bank of 

	 (A)	 IGKV, Raipur

	 (B)	 NRRI, Cuttack

	 (C)	 IIRR, Hyderabad

	 (D)	 IRRI, Manila

	114.	 _moZmOmBQ> aoV _| _______ bdU hmoVo h¢&

	 (A)	 Vob

	 (B)	 `yao{Z`_

	 (C)	 Wmo[a`_

	 (D)	 H$mo`bm

	115.	 gm_mÝ` Va§JX¡¿`©Vm ~¢S> Š`m h¡ {OgHo$ gmW 
{dÚwV-àH$mer` ñH¡$Za H$m_ H$aVm h¡ ?

	 (A)	 0.3 Am¡a 0.9 µm	
	 (B)	 0.3 Am¡a 14 µm

	 (C)	 0.9 Am¡a 14 µm	

	 (D)	 0.9 Am¡a 1.4 µm

	116.	 Xmo OrZ Ho$ ñdV§Ì dJuH$aU Ho$ A^md H$m H$maU

	 (A)	 à{VH$f©U

	 (B)	 ghb½ZVm

	 (C)	 {d{Z_`

	 (D)	 nwZgª`moOZ

	117.	 YmZ Ho$ 23250 OZZ Ðì` H$m g§H$bZ H$hm± Ho$ 
OrZ ~¡§H$ _| h¡ 

	 (A)	 AmB©.Or.Ho$.ìhr., am`nwa

	 (B)	 EZ.Ama.Ama.AmB©., H$Q>H$

	 (C)	 AmB©.AmB©.Ama.Ama., h¡Xam~mX

	 (D)	 AmB©.Ama.Ama.AmB©., _Zrbm
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	118.	 The progeny of nucleus seed is

	 (A)	 Breeder seed

	 (B)	 Foundation seed

	 (C)	 Certified seed

	 (D)	 Registered seed

	119.	 At which time acid concentration in 
CAM plants is maximum ?

	 (A)	 Dusk	 (B)	 Down

	 (C)	 Night	 (D)	 Day

	120.	 Virus disease of chilli are spread by

	 (A)	 White flies	 (B)	 Thrips

	 (C)	 Aphids	 (D)	 None of these

	121.	 Which state has found most diverse 
tropical flora and founa ?

	 (A)	 Chhattisgarh	

	 (B)	 Arunachal Pradesh

	 (C)	 Madhya Pradesh	

	 (D)	 Maharashtra

	122.	 Which of the following is not under 
the development of social forestry 
programme ?

	 (A)	 Farm Forestry	
	 (B)	 Community Forestry
	 (C)	 Strip Plantations
	 (D)	 Control of Government

	118.	 Zm{^H$s¶ ~rO H$s g§V{V H$mo H$hVo h¡§

	 (A)	 àOZH$ ~rO	

	 (B)	 AmYma ~rO

	 (C)	 à‘m{UV ~rO	

	 (D)	 a{OñQ>S>© ~rO

	119.	 Ho$‘ nm¡Ym| ‘| {H$g g‘¶ Aåb H$s gmÝÐVm CÀMV‘ 
ahVr h¡ ?

	 (A)	 S>ñH$	 (B)	 S>mCZ

	 (C)	 amV	 (D)	 {XZ

	120.	 {‘M© ‘| dm¶ag amoJ {H$gHo$ Ûmam ’¡$bVr h¡ ?

	 (A)	 g’o$X ‘ŠIr	 (B)	 {W«ßg	

	 (C)	 Eo{’$S²>g	 (D)	 BZ‘| go H$moB© Zht

	121.	 {ZåZ{b{IV ‘| go {H$g  amÁ`> ‘| g~go Á`mXm 
{d{dY (S>m¶dg©) àH$ma H$m Q´>mo{nH$b âbmoam 
Ed§ ’$mCZm h¡ ?

	 (A)	 N>ÎmrgJ‹T>	

	 (B)	 AéUmMb àXoe

	 (C)	 ‘Ü¶àXoe	

	 (D)	 ‘hmamîQ´>

	122.	 BZ‘| go H$m¡Z-gm gm‘m{OH$ dm{ZH$s A{^d¥{Õ 
H$m¶©H«$‘ Ho$ A§VJ©V Zht AmVm h¡ ?

	 (A)	 ’$m‘© ’$maoñQ²>>ar (joÌ dm{ZH$s )	
	 (B)	 gm‘wXm{¶H$ dm{ZH$s
	 (C)	 pñQ´>n dm{ZH$s 	
	 (D)	 gaH$ma H$m {Z¶§ÌU



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 -31-	 Set-A

		  	 32102/DE – TQD/RCE – E

	123.	 N>ÎmrgJ‹T> amÁ¶ O¡d {d{dYVm ~moS>© H$m H$m¶m©b¶ 
H$hm± na pñWV h¡?

	 (A)	 AaÊ¶ ^dZ, am¶nwa	
	 (B)	 AmB©. Or. Ho$. dr., am¶nwa
	 (C)	 EZ. AmB©. ~r. Eg. E‘., am¶nwa	
	 (D)	 {edZmW ^dZ Z¶m, am¶nwa

	124.	 BZ‘| go {H$gH$s ^maV ‘| g~go Á¶mXm 
AmZwd§{eH$s¶ {d{dYVm h¡ ?

	 (A)	 Amby	 (B)	 Mm¶
	 (C)	 Am‘	 (D)	 brMr

	125.	 CîUH${Q>~§Yr¶ (Q´>mo{nH$b) aoZ ’$maoñQ> (dZ) H$s 
{deofVm h¡

	 (A)	 nm¡Ymo§ H$s AZwnpñW{V	
	 (B)	 H$‘ CËnmXH$Vm
	 (C)	 A{YH$V‘ O¡d-{d{dYVm	
	 (D)	 H$‘ {d{dYVm

	126.	 ¶H¥$V ‘| ¶y[a¶m MH«$ H$m Am{dîH$ma {H$¶m Wm

	 (A)	 ~mo‘Z Ed§ H«o$ãg 
	 (B)	 ~mB{bg Ed§ ñQ>{bªJ

	 (C)	 H«o$ãg Ed§ hoÝgobrQ>
	 (D)	 boÝS>ñQ>rZa Ed§ drZa

	127.	 {ZåZ ‘| go H$m¡Z-gm H$WZ JbV h¡ ?

	 (A)	 d¡gmoào{gZ EH$ EÊQ>rS>mB¶yao{Q>H$ hm‘m}Z h¡

	 (B)	 qbJ hm‘m}Z àmoQ>rZ àH¥${V Ho$ hmoVo h¡§

	 (C)	 LH Ed§ ICSH EH$ hr hm‘m}Z h¡

	 (D)	 ½byH$mJm°Z EH$ Ho$Q>m~m{bH$ hm‘m}Z h¡

	123.	 Office of state Bio-diversity board of 
Chhattisgarh is located at

	 (A)	 Aranay Bhavan, Raipur	
	 (B)	 IGKV, Raipur
	 (C)	 NIBSM Baronda, Raipur	
	 (D)	 Shivnath Bhavan Naya, Raipur

	124.	 Which one have the maximum genetic 
diversity in India ?

	 (A)	 Potato	 (B)	 Tea
	 (C)	 Mango	 (D)	 Litchi

	125.	 Tropical rain forest is characterised by

	 (A)	 Absence of trees	

	 (B)	 Least productivity

	 (C)	 Maximum bio-diversity	
	 (D)	 Minimum diversity

	126.	 Urea cycle in liver was discovered by
	 (A)	 Bowman and krebs
	 (B)	 Bayliss and sterling
	 (C)	 Krebs and Henseleit
	 (D)	 Landsteiner and Weiner

	127.	 Which among the following is wrong 
statement ?	

	 (A)	 Vasopressin is an antidiuretic 
hormone

	 (B)	 Sex hormone are protein in 
nature

	 (C)	 LH and ICSH are the same 
hormone

	 (D)	 Glucagon is a catabolic 
hormone
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	128.	 If a person has lost his memory in an 
accident the following part of the brain 
have get injured

	 (A)	 Diencephalon
	 (B)	 Medulla oblongata
	 (C)	 Cerebellum
	 (D)	 Cerebrum

	129.	 Lamark’s theory on organic evolution 
is stated as

	 (A)	 Inheritance of mutant characters
	 (B)	 Inheritance of vestigial characters

	 (C)	 Inheritance of ancestral characters

	 (D)	 Inheritance of acquired characters

	130.	 The information transfer from RNA to 
DNA is by a process called 	

	 (A)	 Replication	
	 (B)	 Transcription
	 (C)	 Translation	
	 (D)	 Reverse transcription	

	131.	 1 gram of hydrogen is converted 
into 0.993 gram of helium in a 
thermonuclear reaction. the energy 
released is

	 (A)	 63 × 107J	 (B)	 63 × 1010J
	 (C)	 63 × 1014J	 (D)	 63 × 1020J

	132.	 What is used as a moderator in a 
nuclear reactor ?

	 (A)	 Water (H2O)	 (B)	 Graphite
	 (C)	 Cadmium	 (D)	 Steel

	128.	 EH$ ì¶p³V EH$ XþK©Q>Zm ‘| AnZr ñ‘¥{V Imo 
XoVm h¡, Vmo {ZåZ ‘| go ‘pñVîH$ H$m H$m¡Z-gm 
^mJ XþK©Q>ZmJ«ñV hþAm hmoJm ?

	 (A)	 S>mB¶oZ{g’o$bmoZ	

	 (B)	 ‘oS²>¶ybm Amoãbm|JoQ>m
	 (C)	 goar~ob_
	 (D)	 goar~«‘

	129.	 O¡d {dH$mg na b¡‘mH©$ H$m ‘V Wm 

	 (A)	 CËn[ad{V©V bjUm| H$s d§emJ{V

	 (B)	 Adeofr bjUm| H$s d§emJ{V

	 (C)	 nyd©Om| Ho$ bjUm| H$s d§emJ{V

	 (D)	 Cnm{O©V bjUm| H$s d§emJ{V

	130.	 RNA go DNA H$mo OmZo dmbr gyMZm hñVm§VaU 
{d{Y H$mo H$hVo h¢ 

	 (A)	 à{VH¥${V ([an{bHo$eZ)
	 (B)	 AZwboIZ (Q´>m§g{H«$n²eZ)
	 (C)	 AZwdmX (Q´>m§gboeZ)
	 (D)	 {dnarV AZwboIZ

	131.	 EH$ Vmn Zm{^H$s¶ A{^{H«$¶m ‘| 1 J«m‘ hmBS´>moOZ 
0.993 J«m‘ hr{b¶‘ ‘| ~XbVm h¡ & Bg 
A{^{H«$¶m ‘| ‘w³V D$Om© hmoJr 

	 (A)	 63 × 107J	 (B)	 63 × 1010J
	 (C)	 63 × 1014J	 (D)	 63 × 1020J

	132.	 Zm{^H$s¶ [a¶o³Q>a ‘| ‘§XH$ Ho$ ê$n ‘| Cn¶moJ 
hmoVm h¡

	 (A)	 Ob (H2O)	 (B)	 J«m’$mB©Q>
	 (C)	 H¡$S²>{‘¶‘	 (D)	 ñQ>rb
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	133.	 A concave mirror of focal length f(in air) 

is immersed in water µ =( )4
3

. The 

focal length of the mirror in water 
will be

	 (A)	 f	 (B)	 4
3

f

	 (C)	 3
4

f 	 (D)	 7
3

f

	134.	 Velocity of light in a medium is 
1.5 × 108 m/s. Its refractive index 
will be

	 (A)	 8	 (B)	 6
	 (C)	 4	 (D)	 2

	135.	 The far point of myopic eye is 40 cm. 
For removing this defect, the power of 
lens required will be

	 (A)	 40 D	 (B)	 – 4 D
	 (C)	 – 2.5 D	 (D)	 0.25 D

	136.	 The organisms that feed on remaining 
parts of dead animal are known as

	 (A)	 Scavengers

	 (B)	 Detrivorous

	 (C)	 Omnivorous	

	 (D)	 Decomposers

	137.	 1, 4 glycosidic bonds are broken when 

	 (A)	 Lipid is digested by lipase

	 (B)	 Protein is digested by pepsin

	 (C)	 Starch is digested by amylase

	 (D)	 None of these

	133.	 ’$moH$g Xÿar f (dm¶w ‘|) dmbo AdVb Xn©U H$mo 
Ob µ =( )4

3
 ‘| Sw>>~mo {X¶m OmVm h¡ & V~ Ob 

		  ‘| BgH$s ’$moH$g Xÿar hmoJr 

	 (A)	 f	 (B)	 4
3

f

	 (C)	 3
4

f 	 (D)	 7
3

f

	134.	 àH$me H$m {H$gr _mÜ`_  ‘| doJ 1.5 × 108 m/s 
h¡ & Bg _mÜ`_ H$m AndV©Zm§H$ hmoJm

	 (A)	 8	 (B)	 6
	 (C)	 4	 (D)	 2

	135.	 {ZH$Q> ÑpîQ> Xmof go nr{‹S>V ZoÌ H$m gwXÿa {~ÝXþ 
40 go.‘r. h¡ & Xmof {ZdmaU H$aZo dmbo boÝg 
H$s j‘Vm hmoJr

	 (A)	 40 D	 (B)	 – 4 D
	 (C)	 – 2.5 D	 (D)	 0.25 D

	136.	 dh Ord Omo ‘¥VOÝVwAm| Ho$ eof ^mJ H$mo ImVo h¢ 
H$hbmVo h¡§

	 (A)	 ‘¥VmonOrdr	

	 (B)	 AnaXmhmar (S>oQ´>rdmoag)

	 (C)	 gd©^jr	

	 (D)	 AnKQ>H$

	137.	 1, 4 ½bm`H$mogmB{S>H$ ~ÝY Qy>Q>Vm h¡ O~ 

	 (A)	 {b{nS> H$m nmMZ bmBnoO Ûmam hmoVm h¡ 

	 (B)	 àmo{Q>Z H$m nmMZ nopßgZ Ûmam hmoVm h¡

	 (C)	 ñQ>mM© H$m nmMZ E‘mBboO Ûmam hmoVm h¡

	 (D)	 BZ_| go H$moB© Zht
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	138.	 If a man stops after running 100 meters, 
then what will be the effect on his 	
body ?

	 (A)	 Gets fatigued due to deposition of 
pyruvic acid in muscles

 	 (B)	 Gets fatigued due to deposition of 
lactic acid in muscles

	 (C)	 Breathing rate increases as acetic 
acid gets deposited in muscles

	 (D)	 Remain uneffected

	139.	 The murmuring sound in heart takes 
place due to

	 (A)	 The defective and leaking valve

	 (B)	 The thrombosis in coronary 
artery

	 (C)	 Defect in SA node

	 (D)	 The arterial pulse

	140.	 A patient who excretes large quantity 

of sodium in urine has

	 (A)	 Diseased adrenal medulla

	 (B)	 Diseased adrenal cortex

	 (C)	 Diseased thymus

	 (D)	 Diseased parathyroid 	

	138.	 O~ EH$ ‘Zwî¶ 100 ‘rQ>a Xm¡‹S>Zo Ho$ ~mX éH$Vm 

h¡, Vmo CgHo$ eara na ³¶m à^md n‹S>Vm h¡ ?

	 (A)	 no{e¶m| ‘| nmBé{dH$ Aåb EH$Ì hmoZo Ho$ 

H$maU WH$ OmVm h¡ 

	 (B)	 no{e¶m| ‘| bop³Q>H$ Aåb EH$Ì hmoZo Ho$ H$maU 

WH$ OmVm h¡ 

	 (C)	 Eogr{Q>H$ Aåb no{e¶m| ‘| EH$Ì hmo OmVm h¡ 

AV… ídmg Xa ~‹T> OmVr h¡ 

	 (D)	 H$moB© à^md Zht n‹S>Vm

	139.	 öX¶ go ~‹S>~‹S>mhQ> (‘a‘[a¨J) Üd{Z hmoZo H$m 

H$maU

	 (A)	 Xmof`w³V Ed§ brqH$J dmëd

	 (B)	 H$moamoZar Y‘Zr ‘| a³V {dYmZ Ho$ H$maU

	 (C)	 SA ZmoS> ‘|o Xmof hmoZo Ho$ H$maU

	 (D)	 Y‘Zr Zm‹S>r Ho$ H$maU

	140.	 EH$ amoJr Omo AnZo ‘yÌ ‘| A{YH$ ‘mÌm ‘| gmo{S>¶‘ 

CËg{O©V H$aVm h¡, H$m H$maU h¡ 

	 (A)	 amoJJ«ñV ES²>[aZb ‘oS²>¶ybm

	 (B)	 amoJJ«ñV ES²>[aZb H$mQ>}³g

	 (C)	 amoJJ«ñV Wm¶‘g	

	 (D)	 amoJJ«ñV n¡amWm¶amBS>
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	141.	 Match List – I with List – II and select 
the correct answer using following 
codes :

			   List – I				    List – II
		  (Alloy steel)		        (Properties)

	 a.	 Invar	 1.	 High tensile 
strength

	 b.	 Chromevanadium	 2.	 Hard and 
steel		   tough

	 c.	 Alinico	 3.	 Corrosion 
resistant

	 d.	 Manganese steel	 4.	 Highly 		
		  magnetic

	 e.	 Stainless steel	 5.	 Very small 	
coefficient of 
expansion

Codes :
	 	 a	 b	 c	 d	 e
	 (A)	 1	 2	 3	 4	 5
	 (B)	 5	 4	 3	 2	 1
	 (C)	 3	 2	 1	 4	 5
	 (D)	 5	 1	 4	 2 	 3

	142.	 Consider the following statements :
Coke is one of the material of charge 
added to blast furnace for the production 
of steel/iron. Its function is to

	 1.	 Acts as the reducing agent.

	 2.	 Removes silica associated with 
iron ore.

	 3.	 Functions as fuel to supply heat.

	 4.	 Acts as an oxidising agent.
Correct statements are :

	 (A)	 1 and 2	 (B)	 2 and 4
	 (C)	 1 and 3	 (D)	 3 and 4

	141.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a {ZåZ H$moS>m| 
H$s ghm`Vm go ghr CÎma M`{ZV H$s{O`o :

	 gyMr – I	 gyMr  – II
	 ({_lYmVw ñQ>rb)	 (JwU)
	 a.	BZdma	 1.	CÀM VÝ`Vm epŠV>

	 b.	H«$mo_doZo{S>`_ ñQ>rb	 2.	H$R>moa Ed§ _O~yV

	 c.	E{b{ZH$mo	 3.	g§jmaU AdamoYH$

	 d.	_o§JZrO ñQ>rb	 4.	CÀM Mwå~H$s`

	 e.	ñQ>oZbog ñQ>rb	 5.	AË`{YH$ {ZåZ àgma 
JwUm§H$

Hy$Q> :
	 	 a	 b	 c	 d	 e
	 (A)	 1	 2	 3	 4	 5
	 (B)	 5	 4	 3	 2	 1
	 (C)	 3	 2	 1	 4	 5
	 (D)	 5	 1	 4	 2 	 3

	142.	 {ZåZ H$WZm| na {dMma H$s{O`o :
ñQ>rb/Am`aZ Ho$ CËnmXZ Ho$ {bE dmV^Å>r _| 
{_bm`m OmZo dmbm MmO© H$m EH$ nXmW© H$moH$ h¡ & 
H$moH$ H$m H$m`© h¡

	 1.	 AdH$maH$ Ho$ ê$n _| H$m`© H$aVm h¡&

	 2.	 Am`aZ A`ñH$ g o  g §` wŠV {g{bH$m 
{ZîH$m{gV H$aVm h¡&

	 3.	 D$î_m àXmZ H$aZo BªYZ Ho$ ê$n _| H$m`© 
H$aVm h¡&

	 4.	 AmŠgrH$maH$ Ho$ ê$n _| H$m`© H$aVm h¡&
ghr H$WZ h§¡ :

	 (A)	 1 Ed§ 2	 (B)	 2 Ed§ 4
	 (C)	 1 Ed§ 3	 (D)	 3 Ed§ 4
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	143.	 Among the following which are 
mismatched ?

	 1.	 Acidic refractory material – 
quartz

	 2.	 Basic refractory material – 	
bone ash

	 3.	 Reverberatory furnace – 
smelting of tin stone

	 4.	 Millerite – ore of copper

	 5.	 German silver – Alloy of silver

	 (A)	 2, 4 and 5

	 (B)	 1, 3 and 4

	 (C)	 1, 2 and 3

	 (D)	 3, 4 and 5

	144.	 Consider the following carboxylic acids :

	 I.	 CH3COOH

	 II.	 CH3ch2cooh

	iii .	c lch2cooh

	iv .	c l2chcooh

	v .	 Cl3ccooh

Increasing order of acidity is :

	 (A)	 i < ii < iii < iv < v

	 (B)	 v < iv < ii < i < iii

	 (C)	 ii < i < iii < iv < v

	 (D)	 iv < v < i < ii < iii

	143.	 {ZåZ Ho$ _Ü` H$m¡Z-gm gw_o{bV Zht h¡ ?

	 1.	 Aåbr` [a\«o$ŠQ>ar nXmW© – ŠdmQ²>©O

	 2.	 jmar` [a\«o$ŠQ>ar nXmW© – hÈ>r H$s amI

	 3.	 namdVu ^Å>r – {Q>Z ñQ>moZ H$m àJbZ

	 4.	 {_ëboamB©Q> – H$mna H$m A`ñH$

	 5.	 O_©Z {gëda – {gëda H$m YmVwg§H$a

	 (A)	 2, 4 Ed§ 5

	 (B)	 1, 3 Ed§ 4

	 (C)	 1, 2 Ed§ 3

	 (D)	 3, 4 Ed§ 5

	144.	 {ZåZ H$m~m}pŠg{bH$ Aåbm| na {dMma H$s{O`o :

	 I.	 CH3COOH

	 II.	 CH3ch2cooh

	iii .	c lch2cooh

	iv .	c l2chcooh

	v .	 Cl3ccooh

Aåbr`Vm H$m ~‹T>Vm H«$_ h¡ :

	 (A)	 i < ii < iii < iv < v

	 (B)	 v < iv < ii < i < iii

	 (C)	 ii < i < iii < iv < v

	 (D)	 iv < v < i < ii < iii
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	145.	 Consider the following statements :
	 1.	 Low density polythene consists of 

closely packed linear molecules.

	 2.	 Polyvinyl chloride (PVC) is 
thermoplastic.

	 3.	 The tensile strength of high 
density polythene is more than 
low density polythene.

	 4.	 Teflon is a heat resistant 
polymer.

	 5.	 Polymono chloro trifluoro 
ethylene (PCTFE) is a 
thermosetting polymer.

Correct statements are :	
	 (A)	 1, 2 and 3	 (B)	 2, 3 and 4
	 (C)	 1, 2 and 5	 (D)	 3, 4 and 5

	146.	 In decomposition reaction of ammonia 
2NH3(g)  N2(g) + 3H2(g)
2 moles of NH3 are introduced in the 
vessel of 1 litre. At equilibrium 1 mole 
of NH3 was left, the value of equilibrium 
constant (Kc) will be

	 (A)	 0.688	 (B)	 1.688
	 (C)	 0.0688	 (D)	 1.788

	147.	 The reaction A k → Product is zero 

order while reaction  B k → Product 
is first order reaction. for what initial 
concentration of A, the half lives of two 
reactions are equal ?

	 (A)	 loge4M	 (B)	
1
2

loge2M

	 (C)	 loge2M	 (D)	 4 loge2M

	145.	 {ZåZ H$WZm| na {dMma H$s{O`o :
	 1.	 {ZåZ KZËd nm°brWrZ a¡{IH$ AUwAm| H$m 

{Z{d‹S>> g§aMZm h¡&
	 2.	 nm°br{dZmB©b ŠbmoamBS>(PVC) 			 

W_m}ßbmpñQ>H$ h¡&

	 3.	 CÀM KZËd nm°brWrZ H$m VÝ`Vm epŠV 
{ZåZ KZËd nm°brWrZ go A{YH$ hmoVm h¡&

	 4.	 Q>oâbm°Z Cî_mamoYr ~hþbH$ h¡&

	 5.	 nm°br_moZmo Šbmoamo Q´>mB©âbmoamo BWrbrZ  
(PCTFE) W_m}goqQ>J ~hþbH$ h¡&

ghr H$WZ h¡ :	
	 (A)	 1, 2 Ed§  3	 (B)	 2, 3 Ed§ 4
	 (C)	 1, 2 Ed§  5	 (D)	 3, 4 Ed§ 5

	146.	 A_mo{Z`m Ho$ {dKQ>Z A{^{H«$`m _o§
2NH3(g)  N2(g) + 3H2(g)
2 _mob A_mo{Z`m EH$ brQ>a Ho$ nmÌ _| S>mbZo 
na gmå`mdñWm na 1 _mob NH3 eof ahm& gmå` 
pñWam§H$$ (Kc) H$m _mZ hmoJm 

	 (A)	 0.688	 (B)	 1.688
	 (C)	 0.0688	 (D)	 1.788

	147.	 A{^{H«$`m A k → CËnmX eyÝ` H$mo{Q> H$s 	

A{^{H«$`m h¡ O~{H$ A{^{H«$`m B k → CËnmX 
àW_ H$mo{Q> H$s A{^{H«$`m h¡& A Ho$ {H$g 
àma§{^H$ gmÝÐ>Vm Ho$ {b`o XmoZm| A{^{H«$`m Ho$ 
AY©Am`wH$mb g_mZ h¢ ?

	 (A)	 loge4M	 (B)	
1
2

loge2M

	 (C)	 loge2M	 (D)	 4 loge2M
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	148.	 Glycine NH2CH2COOH behaves	
	 (A)	 As a Bronsted acid

	 (B)	 As a Bronsted base
	 (C)	 Both as an acid and a base
	 (D)	 Neither as an acid nor as a base

	149.	 Among the following statements, the 
incorrect statement is

	 (A)	 The setting of plaster of paris may 
be catalysed by sodium chloride

	 (B)	 During setting, the plaster of paris 
converts into monoclinic form

	 (C)	 The setting of plaster of paris is 
retarded by addition of borax

	 (D)	 Addition of alum to plaster of paris 
makes the setting very hard

	150.	 Consider the following statements :

	 1.	 Selenium imparts red colour in 
glass.

	 2.	 Boron trioxide increases coefficient 
of expansion of glass.

	 3.	 Flint glass is highly suitable for 
making laboratory glass-wares.

	 4.	 Crooke’s glass does not allow 
passage of ultraviolet rays.

	 5.	 Pot furnace method is used to 
prepare large quantity of glass.

Incorrect statements are :

	 (A)	 1, 2 and 3	 (B)	 2, 3 and 5
	 (C)	 1, 4 and 5	 (D)	 3, 4 and 5

	

	148.	 ½bmB©grZ NH2CH2COOH H$m ì`dhma h¡
	 (A)	 EH$ ~«mÝñQ>oS> Aåb O¡go
	 (B)	 EH$ ~«mÝñQ>oS> jma O¡go

	 (C)	 XmoZm| Aåb Ed§ jma O¡go
	 (D)	 Z Vmo Aåb O¡go Z hr jma O¡go

	149.	 {ZåZ H$WZm| Ho$ _Ü` JbV H$WZ h¡

	 (A)	 ßbmñQ>a Am°\$ no[ag H$m goqQ>J gmo{S>`_ 
ŠbmoamB©S> go CËào[aV hmo gH$Vm h¡ 

	 (B)	 goqQ>J Ho$ Xm¡amZ, ßbmñQ>a Am°\$ no[ag 
_moZmoŠbr{ZH$ ê$n _| n[ad{V©V hmoVm h¡

	 (C)	 ~moaoŠg Ho$ {_bmZo go ßbmñQ>a Am°\$ no[ag H$s 
goqQ>J Yr_r hmo OmVr h¡

	 (D)	 ßbmñQ>a Am°\$ no[ag _| Eb_ {_bmZo go 
AË`{YH$ H$R>moa go{Q>§J hmoVr h¡

	150.	 {ZåZ H$WZm| na {dMma H$s{O`o :
	 1.	 gobo{Z`_ H$m±M _| bmb a§J àXmZ 		

H$aVm h¡&
	 2.	 ~moamZ Q´>mB©AmŠgmB©S> H$m±M H$m àgma JwUm§H$ 

_| d¥{Õ H$aVm h¡&
	 3.	 à`moJembm Ho$ H$m±M Ho$ CnH$aU ~ZmZo Ho$ 

{b`o pâbÝQ> H$m±M gdm©{YH$ Cn`wŠV h¡&
	 4.	 H«y$Šg$H$m±M nam~¢JZr {H$aUm| H$mo JwOaZo 

Zht 	XoVr h¡&
	 5.	 nm°Q> ^Å>r {d{Y H$m Cn`moJ àMya _mÌm _| 

H$m±M ~ZmZo _| hmoVm h¡&
JbV H$WZ h¡ :

	 (A)	 1, 2 Ed§ 3	 (B)	 2, 3 Ed§ 5
	 (C)	 1, 4 Ed§ 5	 (D)	 3, 4 Ed§ 5
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` :          3 K§Q>o	 A{YH$V_ A§H$ : 300

Time for making answers : 3 Hours	 Maximum Marks : 300

ZmoQ> :
1.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hmo§Jo :	       à. g§.

	 ^mJ – (1) : amÁ` H$m gm_mÝ` kmZ	 -	 1-30
	 ^mJ – (2) : ^mfm ({hÝXr, N>ËVrgJ‹T>r Ed§ A§J«oOr)	 -	 31-60
	 ^mJ – (3) : ~w{Õ_Îmm narjU, {díbofUmË_H$ Ed§ Vm{H©$H$ `mo½`Vm	 -	 61-90
	 ^mJ – (4) : H¥${f, Ord-{dkmZ Ed§ dZñn{V emñÌ, agm`Z emñÌ, dm{ZH$s, 
	                   ^y-J^© {dkmZ, J{UV Ed§  ^m¡{VH$ {dkmZ	 -	 91-150
	 àË`oH$ àíZ 2 A§H$ H$m h¡ &

2.	 àíZm| Ho$ CÎma Xr JB© OMR CÎmaerQ> (Am§gaerQ>) na A§{H$V H$s{OE Ÿ&

3.	 JbV CÎma A§{H$V H$aZo na 1/2 A§H$ H$mQ>o Om`|Jo &

4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&

5.	 OMR CÎmaerQ> (Am§gaerQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 
Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :

1.	  This Question Booklet contains Parts :	       Q. No.
	 Part – (1) : General Knowledge of the State	 –	 1-30 
	 Part – (2) : Language (Hindi, Chhattisgarhi, English)	 –	 31-60 
	 Part – (3) : Intelligence Test, Analytical and Logical Ability	 –	 61-90 
	 Part – (4) : Agriculture, Biology, Botany, Chemistry, Forestry, 					   
	                   Geology, Mathematics and Physics	 –	 91-150
	 Each question carries 2 marks.

2.	 Indicate your answers on the OMR Answer-Sheet provided.

3.	 1/2 mark will be deducted for each wrong Answer.
4.	 Use of any type of calculator or log table and mobile phone is prohibited.

5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 
not get torn or spoiled due to folds and wrinkles. 


